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2N/��?P _  2"2 �1P/R�Oล0�O1#Cล AQ��2� 
 

_.  �O2��2$"2  

 _._ �?P�1Q��1�/#CN�O2�/%A1�B#��/%A1� 2�ล 
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� 6�'1AP� %/# `, _ba O/N�  (N� 64Q�N���5�//5�2#B�%2�ค%6#  _b O/N�) �6#�%4�60�%4�%/�#/6�R�$ N%AP1� 
�6%�5��5Q�1�ค์�6%�%>/6%2N/�� 6�'  N#AP1/5��?P  _g   #�%6ค#    .0 .  `cag  �@P�R�O'��%4�60Q�%6��>��6�BN��16  
��5��%4�60�5P/R� N'N# __a  �1��?P  g  '�/5��?P  _g  #�%6ค#    .0 .  `cag  O'4#?�'Q�O�5�ค5�Q�/5��?P  _g  
#?�6ค#   .0.  `cag   �@P�2 2�1��2�1�ค์�2%�%>/2%2N/�� 2�ล�O2$/2� �1Q�1$CNNล��?P  f^/b  /#CN�?P a � 2�ล
�O2$/2� 1 2N"1N#A1�2#B�%2�ค%2# �1�//1�2#B�%2�ค%2#  �5�N�AP1�#6�@��ั��B�5�N�O�%4$4N/'6  `^  �? 

÷ ��2� AQ��?P 
 1�ค์�2%�%>/2%2N/�� 2�ล�O2$/2� �5Q �1$CN Q�N�� AQ��?P �6%��ค%1��1�1 6N"1N#A1�2#B�%2�ค%6#   

�5�//5�2#B�%2�ค%6# 1$CN/N6��6��5�//5�2#B�%2�ค%6# �%4#6� _^ �>P'N#�% O'4#? AQ��?P%/#  b._a  �6%6�
�>P'N#�% /%A1�%4#6�  `,cfd  R%N  "6$Q�N���6%��ค%1��1�� 6�'�O6$/6��%4�1��O/$/#CN�O6�� 6�/�  
d  /#CN  �5��?Q 
  /#CN�?P  _    �O6� /�#6'5$ 

  /#CN�?P  `     �O6�คBO�'#�/� 

    /#CN�?P  a     �O6��O6$/6� 

  /#CN�?P  b     �O6��6�O2#�O1$  
  /#CN�?P  c     �O6��6�/5/�%/� 

  /#CN�?P  d     �O6��6�O2# 

÷ 12�2N��  
   1�ค์�6%�%>/6%2N/�� 6�'�O6$/6�#?16�6N���>��N1�5�� 6�'1AP�N  �5��?Q 
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_.a  ล1�1�0"C#>12�20 

 Q�N�� AQ��?P�1�1�ค์�6%�%>/6%2N/�� 6�'�O6$/6�  2A�N�AP1��6� AQ��?PP�$2N/�Q/�NN�O�2/��'R#O
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_.b  ล1�1�0�1��>� 

 Q�N��� 6�'�O6$/6� '5�1�4�1��>�P�$�5P/R�N�O��>�N/�?$/ 2?� 6 �>��41BO#�Q 6R�O�?O'4�6� 2%O6�
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_.c  ล1�1�0�1�O/ลN��Q 2 

 Q�N��� 6�'�O6$/6�#?O/'N��Q 6�6��%%#�6�>�?P2 6ค5�คA1 O#N�Q 6O#N�'1� O'4' 6�%4P�� คC ค'1� 
/�1� �@� �O1$Q/�NN�O�� 6�/�#6� Q�"6 %/#R#N�6�Oค'�O/'N��Q 6 /%A1N�>�ค/6#O/O�O'O�Q� AQ��?P O'4#?��
���6#&�C�6' 

_.d  ล1�1�0�1�R#OOล0�N2R#O 
 Q�N��� 6�'�O6$/6� R#O/%A1�N6R#O 2N/�Q/�NN�O�R#O�6��O�#4 %O6/ R#OP���6� R#O2�  R#OR�N
 1�%4#6� �@P�26#6%�� 6#6Q�O�5�%26�R�O N�O��O� 

`.  �O2��2%N#A1� / �2%��ค%1� 
`._ N���2%��ค%1� 

 

�2%2�O2��� 2�/��%0�2�%Oล0N���2%��ค%1��1�1�ค์�2%�%>/2%2N/�� 2�ล�O2$/2� 
 

/#CN�?P �AP1�O2� 

� 2�/��%0�2�% 

O$��2#N 0 

� 2�/�
�%0�2�% 

%/#  
(ค�) 

� 2�/�
ค%1/N%A1� 

(/ล1�ค2N%A1�) 

�AP1 - 2�Bล 

� 2�1�/�COQ/�N�O2� 
N�1%์P�%01 �์ N 0�2$ 

(ค�) 

N 0/�>� 
(ค�) 

1 �O6� /�#6'5$ 141 145 286 83 �6$ �1์05��>N  �?%�6�%�์ 082-251-4891 

2 �O6�คBO�'#�/� 251 286 537 196 �6$#?�B�   C''4#O6$ 089-011-7768 

3 �O2��O2$/2� 334 329 663 231 �6$1%%�/B�>  �'5�2#�C%�์ 083-552-0793 

4 �O2��2�O2#�O1$ 609 664 1,273 514 �6�1%B�  �6#N�A1� 089-549-0531 

5 �O2��2�/1/�%/� 335 340 675 280 �6$�>N%�  #6�4�%%# 080-651-0556 

6 �O2��2�O2# 850 859 1,709 829 �6$2#$0  0%?�>' 081-736-0186 
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        � 6�/��CO#?2>��>NN'A1��5Q�  cfb    ค� 
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_. �6$1%%�  ���'5�1�์        �6$�1�ค์�6%�%>/6%2N/�� 6�'�O6$/6� 
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a. �6$/>P%��์  0%?2B/%%�  2#6�>�2"6  1��. �O6$/6�  /#CN�?P  ` 

b. �6$2#�6$  1>��$�ค์  2#6�>�2"6  1��. �O6$/6�  /#CN�?P  ` 

       c.  �6�26/�/?/%%� �B�%5��์  2#6�>�2"6  1�� .�O6$/6�  /#CN�?P  a 

       d.  �6$�5$��4  �6#N�A1�   2#6�>�2"6  1�� .�O6$/6�  /#CN�?P  b 

                e.  �6$2#ค>�  O2�"C   2#6�>�2"6  1��. �O6$/6�  /#CN�?P  c 

      f.  �6$�%4N2%>�  O2�2B/%%�      2#6�>�2"6  1�� .�O6$/6�  /#CN�?P  c 

       g.  �6$%BN�  �C�AP�     2#6�>�2"6  1�� .�O6$/6�  /#CN�?P  d 

                _^.  �6�26/N ?$�Q�   5��B์P �>N      2#6�>�2"6  1�� .�O6$/6�  /#CN�?P  d 

a. �%0�2�%�1�� 2�ล�O2$/2� 

a._ �2%2�O2���O1#CลN�?P$/�1�� 2�/��%0�2�% 
 

/#CN�?P �AP1/#CN�O2� 

� 2�/�/ล1�ค2N%A1� 

(/ล1�) 
� 2�/�%21�% (ค�) 

�2$ /�>� %/# 

_ �O6� /�#6'5$ fa 141 145 286 

` �O6�คBO�'#�/� _96 251 286 537 

a �O6��O6$/6� `31 334 329 663 

b �O6��6�O2#�O1$ 514 609 664 1,273 

c �O6��6�/5/�%/� `80 335 340 675 

d �O6��6�O2# f29 850 859 1,709 
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                        � 6�/�ค%5/N%A1�  �5Q�2>Q�   `,133     ค%5/N%A1� 

 

�6%6�O2���6%N�%?$�N�?$�� 6�/��%4�6�%$O1�/'5� a �? ( � /5��?P __ �B'6ค#  .0. `ccg) 
  

 

�ี 

� 2�/�ค%1/N%A1� 

(/ล1�) 
�2$ 

(ค�) 

/�>� 
(ค�) 

%/# 

`ccd _,g`e `,bbg `,cba b,gg` 

`cce _,gf` `,be^ `,cbf c,^_f 

`ccf _,ggg `,bec `,cbg c,^`b 

`ccg `,^e` `,c^e `,cff c,^gc 

�?P#6 : 2�>�>�O6��6��4N�?$��O6� O$�%6$ AQ��?P %4�5�� 6�'  �O1#C'�1�� 6�'�O6$/6� 1 6N"1N#A1�3                          
        �5�//5�2#B�%2�ค%6# 2 6�5��6%�%>/6%�4N�?$� �%#�6%��ค%1� /�O1#C'  � N�A1��5�$6$� `ccg 
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3.2  �N/�12$BOล0� 2�/��%0�2�% 

�2%2�O2��2�>�>�%0�2�% O$�%2$ล0N1?$� (O$��2#�N/�12$B) 
 

�N/�12$B 
� 2�/��%0�2�% 

N 0�2$ (ค�) N 0/�>� (ค�) 
%/# 

(ค�) 
%/#�1Q�/#� 

0  -  4  �? 
5  -  9  �? 

10  -  14  �? 
15  -  19  �? 
20  -  24  �? 
25  -  29  �? 
30  -  34  �? 
35  -  39  �? 
40  -  44  �? 
45  -  49  �? 
50  -  54  �? 
55  -  59  �? 
60  -  64  �? 
65  -  69  �? 
70  -  74  �? 
75  -  79  �? 
80  -  84  �? 
85  �?�@Q�R� 

`,514 

135 

144 

140 

146 

157 

183 

215 

186 

205 

199 

204 

183 

150 

108 

52 

48 

32 

27 

`,617 

108 

125 

127 

148 

155 

176 

186 

198 

191 

201 

229 

232 

160 

125 

79 

63 

61 

53 

c,131 

243 

269 

267 

294 

312 

359 

401 

384 

396 

400 

433 

415 

310 

233 

131 

111 

93 

80 

0 – 14 �?  (/5$N�O�) 
15 – 59 �? (/5$� 6�6�) 
60 �?�@Q�R� (/5$2C�16$B) 
4 – 19 �? (/5$N�%>� 5��B์) 
95 – 99 �? (/5$2C�16$B) 
_^^ �?�@Q�R� (/5$2C�16$B) 

419 

1,678 

417 

454 

3 

1 

360 

1,716 

541 

508 

5 

2 

779 

3,394 

958 

962 

8 

3 

 

�?P#2  :   �O1#Cล�2�2 2�1��0N�?$�%21�%์1 2N"1N#A1�/ �1�//1�2#B�%2�ค%2#  �O1#C'%4//N6�/5��?P  _ – g  
#?�6ค# `cd_ 
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12�? �%0�2�% 
 

�?P 12�?  � 2�/� (ค%1/N%A1�) %O1$ล0 

_ 

` 

a 

b 

c 

N�1�%�% 

�O6%6��6% 

 �5��6�/�N/$�6�N1��� 

�B%�>�2N/��5/ 

%5��O6��5P/R� 

`eb 

`a_ 

`ff 

ag_ 

fff 

_a.`` 

__._b 

`^.e` 

_f.fe 

b`.fc 

%/# `,^e` _^^.^^ 
 

%2$R�O�1�ค%1/N%A1� 
 

�?P %0�1�%2$R�ON�ล?P$�N1�ี � 2�/� (ค%1/N%A1�) %O1$ล0 

_ 

` 

�P 6�/N6  a^,^^^  �6� 

a^,^^^  �6� �@Q�R� 

`a^ 

_,fb` 

__._^ 

ff.fg 

%/# `,^e` _^^.^^ 

b.  2"2 �2�21�ค# 

b._  �2%0@�12 
 2�2��2%0@�12  

 Q� AQ��?P1�ค์�6%�%>/6%2N/�� 6�'�O6$/6� #?2�6��%>�6%�O6��6%0@�16 �5Q�%4�5�0C�$์ 5��6N�O�N'O� 
%4�5�1�B�6' %4�5��%4�# %4�5�#5�$#O'40C�$์�6%0@�16�1�%4��O'4�6%0@�16�6#15�$605$  �5��?Q  
 

�?P 2�2��%>�2%�O2��2%0@�12 � 2�/� 

O/N� ค%C �1�N%?$� 

_ 

` 

a 

b 

c 

0C�$์ 5��6N�O�N'O� 

P%�N%?$��%4�#0@�16 

P%�N%?$�#5�$#0@�16 

0C�$์�6%0@�16�1�P%�N%?$� 

�?P1N6�/�5�2A1�%4� 6/#CN�O6� 

_ 

_ 

_ 

_ 

d 

a 

__ 

ad 

_ 

- 

d^ 

_a` 

dcc 

b^ 

- 

�O1#C''N62B� � N�A1� �5�$6$� `ccg 

b.`  �O2�22�2%�2B� 

                   b.`._  �%0N"�2�2� $2�2ล (�O1#C'�6� % .2�.�O6$/6�)  
 - P%� $6�6'2N�N2%>#2B�"6 � 6�'�O6$/6�          � 6�/�  _  O/N�   #?N�O6/�O6�?P�%4� 6  b  ค� 

 - �1��B�/'5��%4�5�2B�"6 � 6�'�O6$/6�   � 6�/�  _  �1��B� 

 - %O6��6$$6O���ั��B�5�Q� AQ��?P� 6�'�O6$/6�      � 6�/�   `  O/N� 
 - 16262#5ค%26�6%�2B��%4� 6/#CN�O6�    � 6�/�  c^  ค� 



  

_a 
 

  b.`.`  �CO�O1$P1�22 

  � 6�/��CO�O1$P1�62 �CO >�6%Q�� 6�'�O6$/6�  �5Q�/#�  __`  ค�  O$�N�O� 

  - �CO >�6% (�N/$�5/N1�R#NR�O) � 6�/�   aa  %6$ 

  - �CO >�6%�N/$N/'A1��N1�R�O � 6�/�   e^ %6$ 

  - �ั��61N1�    � 6�/�   g  %6$ 

b.a 12��2�%%# 

 R#N�%6��Q� AQ��?P� 6�'�O6$/6�   

b.b  $2N2 �>� 

 R#N�%6��Q� AQ��?P� 6�'�O6$/6�    

b.c  �2%21�ค#2�Nค%20/์ 

  -� 6�/��CO2C�16$BQ�� 6�'�O6$/6�   � 6�/�           ege      %6$ 

  -� 6�/��CO >�6% O�N��%4N"�R�O�5��?Q คA1 

  - �CO >�6% (�N/$�5/N1�R#NR�O)   � 6�/�   aa  %6$ 

  - �CO >�6%�N/$N/'A1��N1�R�O   � 6�/�   e^ %6$ 

  - �ั��61N1�      � 6�/�     g  %6$ 

  - �CO�N/$N1�2์     � 6�/�   c %6$ 

�%4�6�%Q� AQ��?PR�O%5��6%2�Nค%64/์�6��%4�%/� 5��625�ค#O'4ค/6##5P�ค��1�#�B1$์ �5�//5�
2#B�%2�ค%6#  �6��6%2 6%/��%4�6�% �CO�O1$P1�60  �CO >�6%  �CO#?%6$R�O�O1$  N�N�  N�>�  �O6/N#  %�N�O�
2 6/%5��CO >�6%  

c.  %0���%>�2% AQ��2� 

c._  �2%ค#�2ค#��2N�  / �2%P�%ค#�2ค# 

 1�ค์�6%�%>/6%2N/�� 6�'�O6$/6� #?�6%�5�2%O6����ค2'. 24 6�ค2'. , ���'6�$6� O'4���
'C�%5� �1��6��?Q #?�6%�5��6%��2N�#/'��P�$N1���  N�N� 

 - %�$��์2?P'O1N'O�%5��O6��%4� 6�6� 26$/5��O6$/6� – N#A1�2#B�%2�ค%6# 

 - N2?$��6#26$ / /1�%4�6$�N6/  �1� 1��.�O6$/6� � 6�/�          _  O/N� 
  - �B��%>�6%1>�N�1%์N�O�� 6�'  �1� 1��.�O6$/6�  � 6�/�          _  O/N� 
  - 2�6�?�/�25��6�  �1� 1��.�O6$/6�     � 6�/�          _   O/N�  

c.`  �2%R!!O2 

 - �%4�6��Q�� 6�'�O6$/6� #?R!!O6�6�R!!O6"C#>"6คQ�O�B�ค%5/N%A1�  � 6�/�  `,^e`  ค%5/N%A1� 

 

 



  

_b 
 

c.a  �2%�%0�2 
  - �%4�6��Q�� 6�'�O6$/6�#?%4���%4�6/#CN�O6�      � 6�/�            _ O/N� 
 - Q�O�%>�6%%4���%4�62N/�"C#>"6ค   � 6�/�   d        /#CN�O6� 

 - O/'N��Q 6�%%#�6�> (/O/$,/�1�,ค'1�,�@� 3'3)      � 6�/�            `^  O/N� 

c.b  P�%01 �์ 
 - #?P�%05 �์26�6%�4O'4P�%05 �์Nค'AP1��?P ค'1�ค'B#�B� AQ��?PQ�� 6�'�O6$/6� 

c.c  R�%1�?$์  / �2%2AP122% / �2%��2N� 
 -#?�%>�6%R�%1�?$์R�$N��1 6N"1N#A1�2#B�%2�ค%6# ���2#B�%2�ค%6# - �6�O  � 6�/� _ O/N� 
 -#?P�%05 �์26�6%�4�%>�6%�5Q�R�' - Q�'O 1$N6�N ?$� 1 

c.d  /12�B ค%B"1��์�N2�N Q�1�ค์�% 
1)  %�$��์�%4�4 4 �%4�C  (2?� 6)   � 6�/�  1 ค5� 

`)  %�$��์�%4�4 b �%4�C �5�N�>Q'Oค�  (2?N�6)      � 6�/�            _        ค5� 

2)  %��5�%$6�$��์    � 6�/�  _ ค5� 

 3)  ค1# >/N�1%์     � 6�/�  1a Nค%AP1� 
 4)  ค1# >/N�1%์ (P�P��BPค)    � 6�/�  1 Nค%AP1� 
 5)  Nค%AP1� ># ์�?�     � 6�/�  1 Nค%AP1�  
 6)  Nค%AP1��N6$N1�26%    � 6�/�  _ Nค%AP1�  
 7)  Nค%AP1� N�/#1�ค/5� (ULV)   � 6�/�  1 �5/ 

 f)  Nค%AP1� N�'411��1$    � 6�/�  _ �5/ 

 g)  'O1/5�%4$4     � 6�/�  1 �5/ 

 _^)  �'O1�%4�5�     � 6�/�  1 �5/ 

 10)  �'O1��N6$%C�     � 6�/�  a Nค%AP1� 
 1_)  Nค%AP1��$6$N2?$�    � 6�/�  1 �5/ 

 1`)  Nค%AP1�P�%N�คN�1%์    � 6�/�  1 Nค%AP1� 
 1a)  %4��N2?$��6#26$    � 6�/�  1 %4��  

 _b)  O1%์ค1��>�5P�     � 6�/�          12 Nค%AP1� 
  ( �O1#C''N62B�  � N�A1��B'6ค#  2559) 

d.  %0��N0%1��>� 

d.1  �2%N�1�%   
R�OO�N  � 62/��'R#O  N�N�  #4 %O6/  '>Q��?P  2O#P1  �'O/$  �5�2/�ค%5/ 3'3 

d.`  �2%�%0#�   
#?�6%� 6�%4#�/'6$ค%5/N%A1� O'4�CO�%4�1��6% 1605$O%��6��6�'C��O6�ค�R�$O'4�N6��6�>  



  

_c 
 

d.a  1B�22/�%%#Q�ค%1/N%A1�   
R�OO�N   � 6�Q 6�6'#4 %O6/  � 6/BO�#4 %O6/ � 616/6%�4N'�6�O/O�  N�N�  /#@�O/O� �'6O/O�  

d.b  �2%คO2�2$   
R�OO�N   �B�N�1%์#6N�O�  %O6�16/6%  �6$�1�� 6  �6$�1��'6��5�  �6$�Q 6#5�N�AQ1N '>�  �6$16/6%

�6#25P�  %O6�คO6R#O�%4N"��N6�N N�N�  R#O2�  R#O$6� R#O%/� R#OR�N 3'3 

d.c  12�? %1��O2�   
R�OO�N  %5��O6�� 6�6�Q�P%��6�1B�26/�%%#Q��5�//5��O6�Nค?$�   O'4%5��O6��5P/R� N�N� %�#1N�1%์

R��์%5��O6�  %5��O6�N�O�#4 %O6/Q�2/� 

d.d �2%�%>�2%Oล0�2%�N1�N�?P$/   
R�OO�N   �%>�6%�?P 5�  P%�O%# P2#2N�$์O'4%?21%์�  �%>�6%1CN�N1#%�$��์  %O6�N2%>#2/$ %O6��5��#

�6$ / /�>�  �/�O��R�$ 

           d.e  12�? %1�%2��2%/%1�/>22/�>�   
N�N�  ค%C �/6% � 6%/�  $6�6' R!!O6 �%4�6 3'3 

      d.f  �2% 2�>�$์Oล0�ลBN#12�?    
#?%O6�คO6/52�B�N12%O6� 2�6�?�%>�6%�Q 6#5�  #?�ลBN#12�?  คO2OTOP   �ลBN#�1�R#O �ลBN#�Q 2 %>� �ลBN#

�2/ล2 �ลBN#N�1�%1>��%?$์�2$�>� �2$�B๋$  �ลBN#O#N�O2���1#12/2% / O�%%C�12/2%  Oล02%O2�
�ล>�"1��์�1�Q�OQ�ค%1/N%A1� N�N� � 2$2ลO2��2� �Q 2�AP#2#B�R %�N2�N 

d.g �O2�O%��2�   
Q� AQ��?P �5Q�O%��6��6�ค�R�$O'4�N6��6�> Q�2�6��%4�1��6% P�$R�OคN6�O6�O%��6��5Q��P 6 �6#

�%4�60�%4�%/�O%��6�� 6/�� /5�'4  a^5  �6� / ค� / /5� (��5��?P 8 N#AP1 _ #�%6ค# `c60)  

e. N0%1��>� 1N ?$��O1��>P� (�O2��2%N�1�%Oล0O/ลN��Q 2) 

    e._ �O1#Cล AQ��2��1�/#CN�O2�/%A1�B#�� 

 /#CN�O6� /%A1�B#�� Q�N��ค/6#%5��>��1� �6%�CO'�1�1�ค์�6%�%>/6%2N/�� 6�'�O6$/6��5Q�P�$
2N/�Q/�N #?�?P�>�O'4�O6�N�O��1���N1� O'4�6%2%O6��O6�#?�6%�%4�6$R��6#2"6  AQ��?P #?�6��B��?PN�O�
�B#�� O'42%O6��O6�N�N6 � 6�/��%4�6�%#6� 12#ค/% (�N6��6�>N�O��CON�N6P�$2N/�Q/�N) N�AP1��6�#6� 6�6�
Q�N�� AQ��?P� 6�'�O6$/6� 

 

    

 



  

_d 

 e.`  �O1#Cล�O2��2%N�1�% 
 �%4�6��Q�� 6�'�O6$/6�#?/>�?�%4�6 /%A1�6%� 6N�>��?/>�O��N0%1��>� 1N ?$� �6%Q�O�N6$R#N
!BN#N!A1$ #? AQ��?P� 6�6%N�1�%N�A1�N�O# AQ��?P  A��'�6��6%N�1�%�@�26#6%�2%O6�%6$R�OQ/O�5��%4�6��1$N6�
 1N ?$� 

    e.a  �O1#Cล�O2�O/ลN��Q 2�2��2%N�1�% 
 O/'N��Q 62 6/%5��O6��6%N�1�%N AP1�6%N 64�'C� P�$2N/�Q/�NR�O�6�O#N�Q 6O#N�'1� O'4O/'N��Q 6
�%%#�6�> �6�' 6�%4P�� /O/$ /�1� ค'1��@� �@P��Q 6�6�O/'N��%%#�6�>N/'N6�?QN ?$� 1�N1�6%N�1�% 

    e.b  �O1#Cล�O2�O/ลN��Q 2�>��Q 2Q�O (/%A1�Q 2N AP1�2%1B�P"ค �%>P"ค) 
 �%4�6��P�$2N/�Q/�N Q� AQ��?P� 6�'�O6$/6�  Q�O�Q 62 6/%5��6%1B�P"ค - �%>P"ค �6��6%�%4�6
"C#>"6ค O'4Q�O�Q 6�6�6'�O6��6�2N/� 

f. 022�2  �%0N �?  /1���%%# 

     f._  �2%�1��A1022�2 
 �%4�6��Q�N���1�1�ค์�6%�%>/6%2N/�� 6�'�O6$/6�2N/�Q/�N�5��A1062�6 B��  ค%>2�์ 

  O'41>2'6# �6#' 6�5� 

 /5�Q� AQ��?P1�ค์�6%�%>/6%2N/�� 6�'�O6$/6� #?� 6�/�  `  O/N�  คA1 

 _. /5��O6$/6�   � 6�'�O6$/6�  1 6N"1N#A1�2#B�%2�ค%6#  �5�//5�2#B�%2�ค%6# 

 `. /5�/�>%ค6#    � 6�'�O6$/6�  1 6N"1N#A1�2#B�%2�ค%6#  �5�//5�2#B�%2�ค%6# 

     f.`  �%0N �? /1���%%#Oล0�2��%0� 2� ี

 8.2.1 �1��2�%2� >�?Oล0%1� >�?%/#�@��%0N �?�?P2 2ค1��1��2�>/�O1��>P� 

 8.2.2   �1��>��%%#/1�N�ล># %0��# %%12 "5 �1�/2#/2%2� 

 8.2.3   �1��>��%%#/1�N�ล># %0��# %%12 "12 2>�/2ค#" 
 8.2.4   �1��2��%0N �?2��%2��์Oล0/1��CO2C�12$ 

 8.2.5   �1��>��%%#/1�ล1$�%0�� 
 8.2.6   2�1�2�B����%0#2�Q/O#Cล�>�>1B�$2� %.2 

 8.2.7   �1��>��%%#O/NN�?$�/1�N�O2 %%12 / � 6�B� �5��6�%N�P//5�11� %%16 

 1�ค์�6%�%>/6%2N/�� 6�'�O6$/6�O'4/5��O6$/6�  �4%N/#�5��5��6��%4N �?2 6ค5��6� B��062�6
N�N� �1���>�26#5คค?  �5��6��%4N �?/5�2��%6��์  %��Q 6�1 %�COQ/�N  �6%O/NN�?$�� 6� 6 %%16  N AP1� 6R�
�/6$ %4">�1B2��์Q� AQ��?P� 6�'�O6$/6�O'4�%>N/�Q�'ONค?$��B��?  �6%� 6�B��5��6�%�O6/26%16/6%O/O�/5�
N�O6 %%16 �5��6�%N�P//5�11� %%16 O'4�5��6�%�O6/26%16/6%O/O�/5�N�'># %4��# %%16 
 

 

 



  

_e 

       f.a "C#>��ั�2�O1��>P�  "212�>P� 

 �O6�"C#>�ั��6�O1��>P��1��%4�6��Q�N��1�ค์�6%�%>/6%2N/�� 6�'�O6$/6�  2N/�Q/�NN�O��O6�
�6%N�1�% 1N ?$�  �6%� 6�B๋$�?/"6  �6%O�%%C�16/6%O'4Nค%AP1��AP#2#B�R % O'4�%4�6��P�$2N/�Q/�NQ�O
"616�'6�Q��6%2AP126%  C�คB$ O'4#?�'BN#�?P1�B%5�1์0>'�/5���%%# N�N� �'BN#�'1�$6/ Q�/#CN�?P b �O6��6�
O2#�O1$  

      f.b  2>�คO2 AQ�N#A1�Oล0�1��?P%0ล@� 

 P�$2N/�Q/�N2>�คO6�?P2%O6�%6$R�O N�O��'BN#16�? �6��6%N�1�% �Q 6�6'#4 %O6/  16/6%�4N'�6�O/O�  
�'>�"5��์�6��4'6#4 %O6/ N�N� Pค#R! �6%O�%%C��Q 6�AP#2#B�R %��>��N6�N  3'3 

 

g. �%1 $2�%�%%#�2�> 
 

g._  �Q 2       

#?O/'N��Q 6�%%#�6�>�6�O#N�Q 6O#N�'1�N�O�26$/'5� O'4#?' 6�%4P��  /�1� ค'1��@� 1$N6�N ?$� 1
Q� AQ��?P� 6�'�O6$/6� 

 g.`  �N2R#O    
P�$2N/�Q/�N�%4�1��O/$ 2/�#4 %O6/  R#O2�  R#OR�N R#OP���6� 
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2N/��?P ` 2%B��ล�2% 1��2�O1��>P��2#O�� 1��2�O1��>P� ( .0. `cce - `cd^) 
_. 2%B��ล�2%� 2N�>��2��2#���%0#2��?PR�O%1�Oล0�2%N�>��N2$���%0#2�Q��ี���%0#2� 

 .0. `cce - `cd^ 

    _._ 2%B�2�2��2%�์�2% 1��2   �2%�1Q����%0#2�  �2%N�>��N2$���%0#2�   
 

�O2�%2$%1� 
 
 

ล 2�1�
�?P /#/�%2$%1� 

�ี���%0#2� 

`cce  (�2�) 

�ี���%0#2� 

`ccf (�2�) 

�ี���%0#2� 

`ccg  (�2�) 

�ี���%0#2� 

`cd^  (�2�) 

_ /#/�"61?16�% bdf,ebf.^a be`,d_e.ce bfc,d`g.^^ - 

` /#/�คN6�%%#N�?$# คN6�%5� 

O'4Q�1�B�6� 

ad_,_`g.^^ aad,ada.^^ abe,gaa.^^ - 

a /#/�%6$R�O�6��%5 $์2>� ab^,aaf.`_ aca,^_g.gd aeg,eec.ca - 

b /#/�%6$R�O�6�
26�6%�C�P"ค 

- - -  

c /#/�%6$R�ON�O�N�'O� e,^^`.^^ c_,_gc.^^ _d,^bc.^^ - 

d /#/�"61?�5�2%% _a,ac_,a_a.fa _b,d^g,_e`.dg _c,gfd,`ef.aa - 

e /#/�N�>�1B�/�B��6�
%5��6' 

b,ea_,`dg.^^ b,cb_,caa.^^ b,^da,a`_.^^ - 

%/#%2$%1��1Q�2>Q� _g,`cd,e__.ad `^,ada,g^_.`` `_,`ea,gf_.fd - 
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ล 2�1�
�?P /#/�%2$�N2$ 

�ี���%0#2� 

`cce  (�2�) 

�ี���%0#2� 

`ccf (�2�) 

�ี���%0#2� 

`ccg (�2�) 

�ี���%0#2� 

`cd^(�2�) 

_ %6$�N6$���'6� a^`,``f.^^ aae,ce^.dc abb,ac_._^ - 

` /#/�N�>�N�A1�O'4คN6�O6�
�%4� 6 

b,a_d,eg_.^^ b,e_c,ffa.^^ e,_^`,fcf.^^ - 

a /#/�คN6�O6��5P/ค%6/ _,dec,ad^.^^ _,dec,ad^.^^ - - 

b /#/�คN6�1�O��Q�O21$
O'4/52�B 

b,a^b,abb.ca `,fbc,defeg a,^`a,eda_f - 

c /#/�คN626�6%�C�P"ค `de,ca_.cc `ea,fbadd a^f,d^_.`c - 

d /#/�N�>�1B�/�B� ggd,f`^.^^ _,_b^,^^^.^^ _,aca,_b^.ed - 

e /#/�คN6ค%B"5��์�?P�>�O'4
2>P��N12%O6� 

_,_dc,d^^.^^ _,ab`,e^^.^^ _,ebd,^ae.g_ - 

%/#%2$�N2$�1Q�2>Q� _a,^`f,dec.^f _`,agc,e_b._^ _a,fef,ec`.`^ - 
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_. $B��062�%์�O6�Pค%�2%O6�
 AQ��6� 

_g c `d.a` c,ff^,^^^ _,^^a,^^^ _e.^e 
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คB�"6 �?/>� 

dg `e ag._a _`,d``,d^^ `,agd,fec _f.gg 

a. $B��062�%์�O6��6%�5�
%4N�?$��B#��  25�ค#  O'4�6%
%5�16ค/6#2��N%?$�%O1$ 

`` ` g.^g c,`_`,^^^ ca,ed^ _.^a 

b. $B��062�%์�6%/6�O��
2N�N2%>#�6%'��B� 6�>�$�%%#
O'4�6%�N1�N�?P$/ 

_` d c^.^^ _,`fe,``^ c^a,a`^ ag._^ 

c. $B��062�%์�6%�%>/6%�5��6%
O'4�6%1�B%5�1์�%5 $6�% 
�%%#�6�>O'42>P�O/�'O1# 

__ _ g.^g _,de^,^^^ `,c^^ ^._c 

d. $B��062�%์�6% 5��6�O6�
2N�N2%>#0>'�4  /5���%%#�6%?�
�%4N �?O'4"C#>��ั�6�O1��>P� 

_d e ba.ec `f,cf_,f`^ bdg,bc^ _.db 

%/# _bg bf a`.`_ cc,`da,db^ b,b`f,g^c f.^_ 
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ล 2�1��?P �AP1Pค%��2% ���%0#2�  (�2�) /#2$N/�B 
_ Pค%��6%$�%4�5��6�N�>�N�O6�1$�O6��6N'O� ac^,^^^ ��  1��. 
` Pค%��6%�N12%O6�24 6��6�N�>�N�O6   

(�6�N�O6�O6��6$/>#') 
_g,^^^ ��  1��. 

a Pค%��6%�N12%O6�O�N��C��C�6�N�>�N�O6  
(�6�N�O6�O6��6�#N/$) 

_b^,^^^ ��  1��. 

b Pค%��6%N2%>#�>/���O12!ั'�์�>�2์  �1$2B�
2#�C%�์  _ 

agc,^^^ ��  1��. 

c Pค%��6%�%5��%B��N1#O�#%4���%4�6
/#CN�O6�  /#CN�?P  c 

gg,^^^ ��  1��. 
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`.  $B��022�%์�O2��2%2N�N2%>#คB�"2 �?/>� 
 

ล 2�1��?P �AP1Pค%��2% ���%0#2�  (�2�) /#2$N/�B 
_ Pค%��6%ค/�คB#O'4�O1��5�P%คR�ON'A1�11� fa,c^^ ��  1��. 
` Pค%��6%�O1��5�P%ค >12B�5��O6O'4คB#� 6N�>�2B�5�

O'4O#/ 

f^,^^^ ��  1��. 

a Pค%��6% 5��62B�"6 "6ค�%4�6��� 6�'�O6$
/6� 

d^,^^^ ��  1��. 

b Pค%��6%ค5��%1�P%คN�6//6�O'4ค/6#�5�P'/>�2C� 
�?  `cce 

d_,bc^ 2�2�. 

c Pค%��6%ค5��%1�P%ค#4N%O��6�#�'C�O'4#4N%O�N�O6
�#  �?  `cce 

af,g^^ 2�2�. 

d Pค%��6%�CO'2B�"6 N�O6�CO�N/$N�6//6��O/$�B�
�4�%O621��6�  �?  `cce 

ae,dc^ 2�2�. 

e Pค%��6%�CO >�6%Q�'O�O6�Q�'OQ�  �?  `cce a`,de^ 2�2�. 
f Pค%��6%2/52�>�6%2�Nค%64/์�CO2C�16$B   

�CO >�6%O'4�CO�N/$N1�2์Q�� 6�'�O6$/6� 

-  �CO2C�16$B  N�O�N�>�  c,df_,c^^  �6� 

-  �CO >�6%   N�O�N�>�     c_f,^^^  �6� 

-  N1�2์     N�O�N�>�       `b,^^^  �6� 

`b,^^^ 
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��  1��. 

g Pค%��6%2N�N2%>#O'42�5�2�B��#%#�CO2C�16$B� 6�'
�O6$/6� 

_b`,^^^ ��  1��. 

_^ Pค%��6%!ั�2/$ _^,^^^ ��  1��. 
__ Pค%��6%0C�$์N�O�N'O��'1�P%ค _^,^^^ ��  1��. 
_` Pค%��6%16/6%�'6�/5��1��5�N%?$� df_,`^^ ��  1��. 
_a Pค%��6%16/6%N2%>#  (�#)  �1��5�N%?$� `eb,f`^ ��  1��. 
_b Pค%��6%�5�/6ค%C21�ค1# >/N�1%์�O6�21�P%�N%?$�

/5��O6$/6�  ( '1$N�?$N2O�) 
eb,^^^ ��  1��. 

_c Pค%��6%�'C��>�2 6�@�N$6/���O6�คB��%%#
�%>$�%%#�6%1$CN%/#�5�%/# '5��O6�$6N2 �>� 

_f,d^^ ��  1��. 

_d Pค%��6%�%5��%B�"C#>�50�์O'4O/'N�N%?$�%CO"6$Q�
P%�N%?$�/5��O6$/6�  ( '1$N�?$N2O�) 

c^,^^^ ��  1��. 

_e Pค%��6%2N�N2%>#%5��6%1N6� `c,^^^ ��  1��. 
_f Pค%��6% 5��6คB�"6 �5�N%?$� c^,^^^ ��  1��. 
_g Pค%��6%2N�N2%>#�?06�O1��>P�25# 5��์ `c^,^^^ ��  1��. 
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ล 2�1��?P �AP1Pค%��2% ���%0#2�  (�2�) /#2$N/�B 
`^ Pค%��6%2N�N2%>#�6%O�N��5��?06�O6�"5$$6N2 �>�

Q�� 6�'�O6$/6� 

_c^,^^^ ��  1��. 

`_ Pค%��6%�50�0@�16�1�/O1�N%?$� c^,^^^ ��  1��. 
`` 1B�/�B�N/'N6�6�6��5�//5�2#B�%2�ค%6# `^,^^^ ��  1��. 
`a Pค%��6%�@�16�? O'4O�OR��ั�/6ค/6#$6��� c^,^^^ ��  1��. 
`b Pค%��6%2N�N2%>#2�5�2�B��6%�5��6��6#�%4N �?

2 6ค5��1��O1��>P� 

-  �6�2��%6��์  N�O�N�>�  _^,^^^  �6� 

-  O/N�N�?$�N�O6 %%16  N�O�N�>�  `a,_c^  �6� 

-  '1$�%4��  N�O�N�>�  _`,^^^  �6� 

bc,_c^ ��  1��. 

`c Pค%��6%�5��6�%5� >�?  �>��%%#/5�N�'># %4
��# %%16  O'4�6�062� >�?�N6� N 

-  �6�/5� N13  N�O�N�>�  _`e,c^^  �6� 

-  �6�/5�O#N  N�O�N�>�  _`,`^^  �6� 

-  �6�/5��>$#/6%6�  N�O�N�>�  _,^^^  �6� 

_b^,e^^ ��  1��. 

`d Pค%��6%1B�/�B�1B�$6� %4�%#%6�6�B2%�์  
 %4�6�2#N�O� %4 B��N'>0/'O6�"6'5$  (1B�$6�  
%.`) 

c^,^^^ ��  1��. 

`e Pค%��6%�5��>��%%#�6�/5�N�O�O/N��6�> ce,g^c ��  1��. 

a.  $B��022�%์�O2��2%�1�%0N�?$��B#��  21�ค#  Oล0�2%%1�12ค/2#2��N%?$�%O1$ 

 

ล 2�1��?P �AP1Pค%��2% ���%0#2�  (�2�) /#2$N/�B 
_ Pค%��6%�O1��5�O'4O�OR��ั�/61B�5�>N/�B�6����

�N/�N�0�6'�N6� N 

-  N�0�6'�?Q/#N  N�O�N�>�  _g,^^^  �6� 

-  N�0�6'2��%6��์  N�O�N�>�  _`,ed^  �6� 

a_,ed^ ��  1��. 

` Pค%��6%�5�/6/>�$B2AP126% ``,^^^ ��  1��. 
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ล 2�1��?P �AP1Pค%��2% ���%0#2�  (�2�) /#2$N/�B 
_ Pค%��6%N >P#05�$"6 �%%#�6%0C�$์�%>�6%O'4

�N6$�1�N�คP�P'$?�6%N�1�%  />26/�>��B#��/
N�1�%1626 

_c^,^^^ ��  1��. 

` Pค%��6%�5�Nค'AP1��%5��6N0%1��>� 1N ?$�Q�
�B#��� 6�'�O6$/6� 

fe,_^^ ��  1��. 

a Pค%��6%�'N1$ 5��B์�BO� , �C d^,^^^ ��  1��. 
b Pค%��6% 5��6�6%N%?$��6%21�"616�?�P%�N%?$�

�O6$/6� 

_``,``^ ��  1��. 

c Pค%��6% 5��6�6%N%?$��6%21�"616�N6��%4N�0
N AP1N�%?$#ค/6# %O1#N�O62CN�%4�6ค#16N�?$� 

fb,^^^ ��  1��. 

c.  $B��022�%์�2% 1��2�%>/2%�1��2%Oล0�2%1�B%1�1์�%1 $2�%�%%#�2�>Oล02>P�O/�ลO1#1$N2�$1P�$A� 
 

ล 2�1��?P �AP1Pค%��2% ���%0#2�  (�2�) /#2$N/�B 
_ Pค%��6%ค'1�2/$�Q 6Q2/'�O��'�ค1'� `,c^^ ��  1��. 

d.  $B��022�%์�2% 1��2�O2��2%�%>/2%�>��2%�O2�N#A1��?P�?Oล021�ค#�?P�? 
 

ล 2�1��?P �AP1Pค%��2% ���%0#2�  (�2�) /#2$N/�B 
_ 1B�/�B�Pค%��6%�5��5Q�0C�$์%/#�O1#C'�N6/26%�6%

�5��AQ1�5��O6�  �1�1��.  %4�5�1 6N"1  �%4� 6�?  
`cce 

`^,^^^ ��  1��. 

` Pค%��6%�5�� 6O���B#��O'4O��26#�? b,f^^ ��  1��. 
a Pค%��6%�%>/6%�5��6%�O6�N#A1��?P�?�1� 1��.�O6$

/6�  (2 6%/�ค/6# @� 1Q�) 
_c,^^^ ��  1��. 

b Pค%��6%�50�0@�16�C�6� _cb,^c^ ��  1��. 
c Pค%��6% 1��.�O6$/6�25��% `c,e^^ ��  1��. 
d Pค%��6%1�%#คB��%%#�%>$�%%#Q/OO�N�CO� 6�O1��>P�  

 �5��6�2N/�� 6�'  'C��O6�  1��.�O6$/6� 

g,a^^ ��  1��. 

e Pค%��6%�5��AQ1/52�Bค%B"5��์�N6� N R/OQ�OQ�2 6�5��6� 
1��. 

`b^,d^^ ��  1��. 
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O�� 

� 6�/�
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%O1$'4 

_.  $B��062�%์�O6��6%
 5��6Pค%�2%O6� AQ��6� 

_` ` _d.dd g,adg,^`e _,_ab,^^^ _`._^ 

`.  $B��062�%์�O6��6%
2N�N2%>#คB�"6 �?/>� 

`d `_ f^.ee `,dg`,^^^ _,e^e,de`.g^ da.ba 

a.  $B��062�%์�O6��6%�5�
%4N�?$��B#��  25�ค#  O'4
�6%%5�16ค/6#2��
N%?$�%O1$ 

f ` `c.^^ _,`ac,^^^ ab,a`_ `.ee 

b.  $B��062�%์�O6��6%
/6�O��2N�N2%>#�6%'��B�
 6�>�$�%%#O'4�6%
�N1�N�?P$/ 

e b ce._b ebg,^^^ afc,^^^ c_.b^ 

c.  $B��062�%์�O6��6%
�%>/6%�5��6%O'4�6%
1�B%5�1์�%5 $6�%�%%#�6�>
O'42>P�O/�'O1# 

d ` aa.aa _,_^^,^^^ f,f^^ ^.f^ 

d.  $B��062�%์�6% 5��6
�O6�2N�N2%>#0>'�/5���%%#  
�6%?��%4N �?O'4"C#>
�ั��6�O1��>P� 

g c cc.cc `,g_c,^^^ b_`,`_^ _b._b 

%/# df ad c`.gb _f,^d^,^`e a,df`,^^a.g^ `^.af 
 

/#2$N/�B   $B��062�%์�?P  _  � 6N�>��6%P�$Q�O���%4#6��6��%#2N�N2%>#�6%��ค%1�2N/��O1��>P�  
� 6�/�  _  Pค%��6% 
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�2%�%0N#>��%02>��>�ล�1�O�� 1��2Q�N�>�คB�"2  �%0� 2�ี���%0#2�  .0. `ccf 

 _.  $B��022�%์�O2��2% 1��2Pค%�2%O2� AQ��2� 
 

ล 2�1��?P �AP1Pค%��2% ���%0#2�  (�2�) /#2$N/�B 
_ �N1%4�6$�Q 6�5�2%%/5��O6$/6�  /#CN�?P  ` aac,^^^ ��  1��. 
` �%5��%B��N1#O�#06'6�%4�6ค#/#CN�O6�

 /�#6'5$  /#CN�?P  _ 

egg,^^^ ��  1��. 

a N2%>#�>/O12!ั'�์�>�ค1��%?�  O'4�?N2O�
�%6�%����O6��O6$/6�  22. b^`e /#CN�?P  
b  �N/��N1  /#CN�?P  d  O'4/#CN�?P  a  � 6�'
�O 6 $ / 6 �   1 6 N " 1 N #A 1 � 3   �5 � / /5 �
2#B�%2�ค%6# 

_,^af,^^^ ���%#2N�N2%>#3 

%/#���%0#2� `,_e`,^^^     �2� 

 O�� 5��6  a  �?  ( .0.  `ccf – `cd^)  �%%�BPค%��6%Q�$B��062�%์�?QR/O  � 6�/�  _`  
Pค%��6%  ���%4#6�  g,adg,^`e  �6�  �@P�1�ค์�6%�%>/6%2N/�� 6�'�O6$/6�  26#6%�� 6N�>��6%R�O  `  
Pค%��6%  P�$Q�O���%4#6�  _,_ab,^^^  �6�  ค>�N�O�%O1$'4  _d.dd   

`.  $B��022�%์�O2��2%2N�N2%>#คB�"2 �?/>� 
 

ล 2�1��?P �AP1Pค%��2% ���%0#2�  (�2�) /#2$N/�B 
_ � %5 � N � '?P $ �  & �> � % % # �O 6 � � 6 % � %> P " ค            

(�6%�O6/�'O1�O'4�6%�O1��5�P%ค�6�26%
R1P1�?�) 

bc,^^^ ��  1��. 

` �O1��5�P%คR�ON'A1�11� a,bca.g^ ��  1��. 
a 2/52�>�6%2�Nค%64/์�CO2C�16$B  �CO >�6%�CO�N/$N1�2์

Q�� 6�'�O6$/6� 

-  �CO2C�16$B  N�O�N�>�  c,fgf,^^^  �6� 

-  �CO >�6%   N�O�N�>�     f_d,^^^  �6� 

-  N1�2์     N�O�N�>�       `b,^^^  �6� 

`b,^^^ 

 

 

 

���%#2N�N2%>#3 

��  1��. 
b 2�5�2�B��CO2C�16$B  �CO�O1$P1�62  O'4�CO >�6% _^^,^^^ ��  1��. 
c O/'N�N%?$�%CO�1�/O1�N%?$� `d,_^^ ��  1��. 
d 0C�$์N�O�N'O��'1�P%ค _,f`c ��  1��. 
e !ั�2/$ _,g`c ��  1��. 
f �5�/6ค%C21�ค1# >/N�1%์�O6�21�P%�N%?$�/5�

�O6$/6�  ( '1$N�?$N2O�) 
ee,^^^ ��  1��. 

g N$6/���O6$/6�%5�1์�6%N'N����%? d^,^^^ ��  1��. 



  

`c 

 

ล 2�1��?P �AP1Pค%��2% ���%0#2�  (�2�) /#2$N/�B 
_^ �%5��%B� 5��6O/'N�N%?$�%CO�O6�2B�"6 1�6#5$

O'4Q/O�%>�6%�6���# $6�6' 

b^,^^^ ��  1��. 

__ N�>�P'��50�์�5�N%?$�N$6/���O6$/6� _a,^^^ ��  1��. 
_` 16/6%�'6�/5��1��5�N%?$� d_a,b`^ ��  1��. 
_a 16/6%N2%>#  (�#)  �1��5�N%?$� `ca,_`f ��  1��. 
_b  5��6คB�"6 �5�N%?$��1�P%�N%?$��O6$/6�  d^,^^^ ��  1��. 
_c 2N�N2%>#�6%O�N��5��?06�O6�$6N2 �>�Q�� 6�'

�O6$/6�O'4 (2N��5��?06N�O6%N/#�6%O�N��5�
�%4N"��?06�N6� N) 

`_,^^^ ��  1��. 

_d 1B � / �B � 2 6 �5 � � 6 � N / 'N 6 � 6 � 6 � �5 � / /5 �
2#B�%2�ค%6# 

`^,^^^ ��  1��. 

_e �5��6�%5� >�?  �>��%%#/5�N�'># %4��# %%16  
O'4�6�062�6 >�?�N6� N 

-  �6�/5� N13  N�O�N�>�  `^`,a_d  �6� 

-  �6�/5�O#N  N�O�N�>�  _a,cf^  �6� 

-  �6�/5��>$#/6%6�  N�O�N�>�  _,^^^  �6� 

`_d,fgd ��  1��. 

_f �5��>��%%#�6�/5�N�O�O/N��6�> aa,f^^ ��  1��. 
_g 2N�N2%>#2�5�2�B��6%�5��6��6#�%4N �?2 6ค5�

�1��O1��>P� 

-  �6�2��%6��์  N�O�N�>�  `,c^^  �6� 

-  O/NN�?$�N�O6 %%16  N�O�N�>�  cc^  �6� 

-  '1$�%4��  N�O�N�>�  _^,^^^  �6� 

_a,^c^ ��  1��. 

`^ 1B � / �B � 1B � $ 6 �  % 4 � % # % 6 � 6 �B 2 % �์  
 %4�6�2#N�O � %4 B�� N '> 0/'O 6�"6'5 $  
(1B�$6�  %.`) 

c^,^^^ ��  1��. 

`_ �6��5��>��%%#�5�%$6�N�'># %4N�?$%�>2#N�O�
 %4�6�N�O63 �%#%6�>�?�6�  (BIKE FOR MOM)   

ab,^ed ��  1��. 

%/#���%0#2�                _,e^e,de`.g^    �2� 

 O�� 5��6  a  �?  ( .0.  `ccf – `cd^)  �%%�BPค%��6%Q�$B��062�%์�?QR/O  � 6�/�  `d  
Pค%��6%  ���%4#6�  `,dg`,^^^  �6�  �@P�1�ค์�6%�%>/6%2N/�� 6�'�O6$/6�  26#6%�� 6N�>��6%R�O  
`_  Pค%��6%  P�$Q�O���%4#6�  _,e^e,de`.g^  �6�  ค>�N�O�%O1$'4  f^.ee   

 

 



  

`d 

 

 a.  $B��022�%์�O2��2%�1�%0N�?$��B#��  21�ค#  Oล0�2%%1�12ค/2#2��N%?$�%O1$ 

 

ล 2�1��?P �AP1Pค%��2% ���%0#2�  (�2�) /#2$N/�B 
_ Pค%��6%�O1��5�O'4O�OR��ั�/61B�5�>N/�B�6����

�N/�N�0�6'�N6� N 

-  N�0�6'�?Q/#N  N�O�N�>�  _`,f^^  �6� 

-  N�0�6'2��%6��์  N�O�N�>�  _^,f^^  �6� 

`a,d^^ ��  1��. 

` �O1��5�O'4O�OR��ั�/6$6N2 �>�� 6�'�O6$/6� _^,e`_ ��  1��. 
%/#���%0#2�                     ab,a`_     �2� 

O�� 5��6  a  �?  ( .0.  `ccf – `cd^)  �%%�BPค%��6%Q�$B��062�%์�?QR/O  � 6�/�  f  Pค%��6%  
���%4#6�  _,`ac,^^^  �6�  �@P�1�ค์�6%�%>/6%2N/�� 6�'�O6$/6�  26#6%�� 6N�>��6%R�O  `  Pค%��6%  
P�$Q�O���%4#6�  ab,a`_  �6�  ค>�N�O�%O1$'4  `c.^^   

 b.  $B��022�%์�2% 1��2�O2��2%/2�O��2N�N2%>#�2%ล��B� 2�>�$�%%#Oล0�2%�N1�N�?P$/ 

 

ล 2�1��?P �AP1Pค%��2% ���%0#2�  (�2�) /#2$N/�B 
_ N >P#05�$"6 ค�4�%%#�6%0C�$์�%>�6%O'4

�N6$�1�N�คP�P'$?�6%N�1�%//>26/�>�
�B#��/N�1�%1626 

c_,^^^ ��  1��. 

` �'N1$ 5��B์�BO� , �C e^,^^^ ��  1��. 
a  5��6�6%N%?$��6%21�"616�N6��%4N�0

N AP1N�%?$#ค/6# %O1#N�O62CN�%4�6ค#16N�?$� 

_f^,^^^ ��  1��. 

b N >P#�5�14"616�N6��%4N�0O�N N$6/��
N�%?$#ค/6# %O1#2CN�%4�6ค#16N�?$� 

fb,^^^ ��  1��. 

%/#���%0#2�     afc,^^^     �2� 

 O�� 5��6  a  �?  ( .0.  `ccf – `cd^)  �%%�BPค%��6%Q�$B��062�%์�?QR/O  � 6�/�  e  Pค%��6%  
���%4#6�  ebg,^^^  �6�  �@P�1�ค์�6%�%>/6%2N/�� 6�'�O6$/6�  26#6%�� 6N�>��6%R�O  b  Pค%��6%  
P�$Q�O���%4#6�  afc,^^^  �6�  ค>�N�O�%O1$'4  ce._b 

 c.  $B��022�%์�2% 1��2�%>/2%�1��2%Oล0�2%1�B%1�1์�%1 $2�%�%%#�2�>Oล02>P�O/�ลO1#1$N2�
$1P�$A� 
 

ล 2�1��?P �AP1Pค%��2% ���%0#2�  (�2�) /#2$N/�B 
_ �%5��%B�"C#>�50�์21��O6��6����"6$Q�

� 6�'�O6$/6� 

b,^^^ ��  1��. 

` %5�1์O#N�Q 6O#N�'1�  N�'># %4N�?$%�>2#N�O�
 %4�6�N�O63   %4�%#%6�>�?�6� 

b,f^^ ��  1��. 

%/#���%0#2�      f,f^^    �2� 



  

`e 

 

O�� 5��6  a  �?  ( .0.  `ccf – `cd^)  �%%�BPค%��6%Q�$B��062�%์�?QR/O  � 6�/�  d  Pค%��6%  
���%4#6�  _,_^^,^^^  �6�  �@P�1�ค์�6%�%>/6%2N/�� 6�'�O6$/6�  26#6%�� 6N�>��6%R�O  `  Pค%��6%  
P�$Q�O���%4#6�  f,f^^ �6�  ค>�N�O�%O1$'4  aa.aa 

 d.  $B��022�%์�2% 1��2�O2��2%�%>/2%�>��2%�O2�N#A1��?P�?Oล021�ค#�?P�? 
 

ล 2�1��?P �AP1Pค%��2% ���%0#2�  (�2�) /#2$N/�B 
_ 1B�/�B�Pค%��6%�5��5Q�0C�$์%/#�O1#C'�N6/26%

�6%�5��AQ1�5��O6� �1�1��. %4�5�1 6N"1  
�%4� 6�?  `ccf 

`^,^^^ ��  1��. 

` �5�� 6O���B#��O'4O�� 5��626#�?  �6%
�5�N�O��O1#C'�N6� N 

b,cd^ ��  1��. 

a 1�%#คB��%%#  �%>$�%%#Q/OO�N�CO� 6�O1��>P�  
 �5��6�2N/�� 6�'  'C��O6� 1��.�O6$/6� 

_^,_^^ ��  1��. 

b �50�0@�16�C�6� , 1�%#N >P#05�$"6 Q/OO�N
�CO� 6�O1��>P�   �5��6�2N/�� 6�' 'C��O6� 
1��.�O6$/6� 

_df,fc^ ��  1��. 

c �5��AQ1/52�Bค%B"5��์�N6� N R/OQ�OQ�2 6�5��6� 
1��. 

`^f,e^^ ��  1��. 

%/#���%0#2�       b_`,`_^   �2� 

 O�� 5��6  a  �?  ( .0.  `ccf – `cd^)  �%%�BPค%��6%Q�$B��062�%์�?QR/O  � 6�/�  g  Pค%��6%  
���%4#6�  `,g_c,^^^  �6�  �@P�1�ค์�6%�%>/6%2N/�� 6�'�O6$/6�  26#6%�� 6N�>��6%R�O  c  Pค%��6%  
P�$Q�O���%4#6�  b_`,`_^ �6�  ค>�N�O�%O1$'4  cc.cc 

 

 

 

 

 

 

 

 



  

`f 

 

�ล�2%� 2N�>��2��1�1�ค์�2%�%>/2%2N/�� 2�ล�O2$/2�  �%0� 2�ี���%0#2�  `ccg 
 

$B��062�%์ 

� 6�/�
Pค%��6%
Q�O�� 

� 6�/�
Pค%��6%�?P
� 6N�>��6% 

%O1$'4 

� 6�/�
���%4#6�Q�
O�� 5��6 

� 6�/�
���%4#6��?P
� 6N�>��6% 

%O1$'4 

_.  $B��062�%์�O6��6%
 5��6Pค%�2%O6� AQ��6� 

_a b a^.ee c,aa^,^^^ _,a_f,^^^      24.73 

`.  $B��062�%์�O6��6%
2N�N2%>#คB�"6 �?/>�  
�6%0@�16  0>'�4  �6%�?06  
/5���%%#  �%4N �?"C#>
�ั��6�O1��>P� 

bb `` c^.^^ a,ge_,d^^ 2,155,701.39 54.28 

a.  $B��062�%์�O6��6%�5�
%4N�?$��B#��  25�ค#  O'4
�6%%5�16ค/6#2��N%?$�%O1$ 

_a b a^.ee _,bfc,^^^ _gf,_ag.be 13.34 

b.  $B��062�%์�O6��6%
/6�O��2N�N2%>#�6%'��B�
 6�>�$�%%#O'4�6%
�N1�N�?P$/ 

`^ a _c.^^ _,fad,^^^ 326,000 17.76 

c.  $B��062�%์�O6��6%
�%>/6%�5��6%O'4�6%1�B%5�1์
�%5 $6�%�%%#�6�>O'4
2>P�O/�'O1#1$N6�$5P�$A� 

e _ _b.`g _,f^^,^^^ 2,125 0.12 

d.  $B��062�%์�6% 5��6
�O6��6%�%>/6%�>��6%
�O6�N#A1��?P�?O'425�ค#�?P�? 

`b g ae.c^ `^,aec,dda 952,841.62 4.68 

%/# _`_ ba ac.cb ab,egf,`da 4,952,807.48 14.23 
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 _.  $B��022�%์�O2��2% 1��2Pค%�2%O2� AQ��2� 

  O�/�2��2% 1��2�?P  _  �6% 5��6�6%ค#�6ค#O'4��2N�  � 6�/�Pค%��6%�?P� 6N�>��6%  
� 6�/�  c  Pค%��6%  �5��?Q   

 

ล 2�1��?P �AP1Pค%��2% ���%0#2�  (�2�) /#2$N/�B 
_ �N12%O6�N2%>#�>/�%6�%O12!ั'�์�>�ค1��%?�  

 %O1#/6��N1%4�6$�Q 6  �1$N�O6/5��O6$/6�  
/#CN�?P  a 

eff,^^^ ��  1��. 

` �N12%O6�/6��N1%4�6$�Q 6 ค2'.  %O1#�N1 5�  
�%>N/�/O1�O�/คB�15��'?  2B�1B�#  /#CN�?P  b 

`f^,^^^ ��  1��. 

a �N12%O6�%6�%4�6$�Q 6 ค2'. �1$2B�2#�C%�์  
`  (�N/��?P  `)  /#CN�?P  d 

_`^,^^^ ��  1��. 

b �N12%O6�$�%4�5���� ค2'. �1$คBO�'#�/� 
_ /#CN�?P  `  � 6�'�O6$/6� 

_a^,^^^ ��  1��. 

c �N12%O6�16ค6%0C�$์ 5��6N�O�N'O�  
1��.�O6$/6� 

`,gbd,^^^ ���%#2N�N2%>#3 

 

%/#���%0#2�      _,a_f,^^^     �2� 

 

 `.  $B��022�%์�O2��2%2N�N2%>#คB�"2 �?/>� 

 O�/�2��2% 1��2�?P  _  �O6��6%2N�N2%>#�6%26�6%�2B�#C'�6�  � 6�/�Pค%��6%�?P
� 6N�>��6%  � 6�/�  b  Pค%��6%  �5��?Q   
 

ล 2�1��?P �AP1Pค%��2% ���%0#2�  (�2�) /#2$N/�B 
_ 1B �/�B � ���%4#6�Q/O O�N 1 62 62#5 ค %

26�6%�2B�#C'�6�  (12#.)  � 6�'�O6$/6� 

bc,^^^ ��  1��. 

` �5��AQ1ค%B"5��์Nค%AP1� N�26%Nค#?� 6�5�$B�  
��>��1$'411�  (ULV) 

eg,^^^ ��  1��. 

a �5��AQ1ค%B"5��์Nค%AP1� N�/#1� N�ค/5� 

� 6�5�$B� 
c^,^^^ ��  1��. 

b �O1��5�P%คR�ON'A1�11� _a,_ge.b^ ��  1��. 
%/#���%0#2�        _fe,_ge.b^     �2� 

 

 

 

 



  

a^ 

 

 O�/�2��2% 1��2�?P  `  �O6��6%2N�N2%>#2�5�2�B��6%�5�2/52�>�6%25�ค#  �6%2N�N2%>#
�6%0@�16  � 6�/�Pค%��6%�?P� 6N�>��6%  � 6�/�  _d  Pค%��6%  �5��?Q   

 

ล 2�1��?P �AP1Pค%��2% ���%0#2�  (�2�) /#2$N/�B 
_ 2/52�>�6%2�Nค%64/์�CO2C�16$B  �CO >�6%�CO�N/$

N1�2์Q�� 6�'�O6$/6� 

-  �CO2C�16$B  N�O�N�>�  d,^^g,b^^  �6� 

-  �CO >�6%   N�O�N�>�     g^d,b^^  �6� 

-  N1�2์     N�O�N�>�       a^,^^^  �6� 

a^,^^^ 

 

 

 

���%#2N�N2%>#3 

��  1��. 
` 2�5�2�B����%4#6�Q/OO�N�#%#�CO2C�16$B  

N AP1� 6N�>��6%Pค%��6%/�>��%%#�N6�N �1�
�#%#�CO2C�16$B 

_c^,^^^ ��  1��. 

a O/'N�N%?$�%CO�1�/O1�N%?$� _^,gf^ ��  1��. 
b 0C�$์N�O�N'O��'1�P%ค a,f`c ��  1��. 
c !ั�2/$ a,f`c ��  1��. 
d �5�/6ค%C�CO�CO'N�O�  %4�5���#/5$ fb,^^^ ��  1��. 
e 2N�N2%>#�6%Q�O/O1�2#B�2CN16N�?$� gc,^^^ ��  1��. 
f �'C ��> �2 6�@ � N $6/��  �O 6�คB��%%#  

�%>$�%%# 

_f,d^^ ��  1��. 

_^ 16/6%�'6�/5 ��1��5 � N %? $� P % � N %? $�                
/5��O6$/6�  ( '1$N�?$N2O�) 

c`^,^^^ ��  1��. 

 �O6�N/#6�%4�1�16/6%�'6�/5��1�N�O�N'O�
�%4� 60C�$์ 5��6N�O�N'O�  1��.�O6$/6� 

```,^^^  

__ �5��AQ116/6%N2%>#  (�#)  2 6/%5��5�N%?$�
O'4N�O�N'O��%4� 60C�$์ 5��6N�O�N'O�  1��.
�O6$/6� 

abb,^__.gb ��  1��. 

_`  5��6คB�"6 �5�N%?$��1�P%�N%?$��O6$/6�  d^,^^^ ��  1��. 
_a 0C�$์�@�16�? �B#��� 6�'�O6$/6� _`,^^^ ��  1��. 
_b �%5��%B�2�6#�?06  /#CN�?P  a  � 6�'�O6$/6� gg,^^^ ��  1��. 
_c O�OR��ั�/625�ค# 

N�>�2�5�2�B��6��1��B�2/52�>�6%25�ค#  
�%4�%/� 5��625�ค#O'4ค/6##5P�ค��1�
#�B1$์�5�//5�2#B�%2�ค%6# 

ab,`b^ 

ed,d^^ 

��  1��. 
��  �1��B�
2/52�>�6%3 

 
_d  5��62�%?O'4ค%1�ค%5/ f,^b^ ��  1��. 

%/#���%0#2�   _,dgc,c`_.gb     �2� 

 



  

a_ 

 

 O�/�2��2% 1��2�?P  a  �O6� 5��62�6�5�ค%1�ค%5/  �B#��O'425�ค#  � 6�/�Pค%��6%�?P
� 6N�>��6%  � 6�/�  _  Pค%��6%  �5��?Q 
 

ล 2�1��?P �AP1Pค%��2% ���%0#2�  (�2�) /#2$N/�B 
_ 1B�/�B�2 6�5 ��6� N/'N 6�6�6��5 �//5 �

2#B�%2�ค%6# 

`^,^^^ ��  1��. 

%/#���%0#2�        `^,^^^    �2� 

  

  O�/�2��2% 1��2�?P  b  �O6��6%2�5�2�B�O'42%O6�ค/6#N�O#O�O�Q��6%� 6%B�%5�160>'�4  
/5���%%#  �%4N �?  � 6�/�Pค%��6%�?P� 6N�>��6%  � 6�/�  c  Pค%��6%  �5��?Q   

 

ล 2�1��?P �AP1Pค%��2% ���%0#2�  (�2�) /#2$N/�B 
_ �5��6�%5� >�?  �>��%%#/5�N�'># %4��# %%16  

O'4�6�062�6 >�?�N6� N 

-  �6�/5� N13  N�O�N�>�  da,a`c  �6� 

-  �6�/5�O#N  N�O�N�>�  _g,^^`.^c  �6� 

-  �6�/5��>$#/6%6�  N�O�N�>�  _,^^^  �6� 

-  �6�062�6 >�?�N6�N  N�O�N�>�  _a,g`^  �6� 

ge,`be.^c ��  1��. 

` �5��>��%%#�6�/5�N�O�O/N��6�> g,aa^ ��  1��. 
a 2N�N2%>#2�5�2�B��6%�5��6��6#�%4N �?2 6ค5�

�1��O1��>P� 

-  �6�2��%6��์  N�O�N�>�  a,c^c  �6� 

-  �6�O/NN�?$�N�O6 %%16  N�O�N�>�    -    �6� 

-  �6�'1$�%4��  N�O�N�>�  e,g^^  �6� 

__,b^c ��  1��. 

b 1B � / �B � 1B � $ 6 �  % 4 � % # % 6 � 6 �B 2 % �์  
 %4�6�2#N�O � %4 B�� N '> 0/'O 6�"6'5 $  
(1B�$6�  %.`) 

c^,^^^ ��  1��. 

c 2�5�2�B�N�>�2#���1��B�/'5��%4�5�2B�"6 
� 6�'�O6$/6�   

fc,^^^ ��  1��. 

%/#���%0#2�                `c`,gf`.^c     �2� 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



  

a` 

 

 a.  $B��022�%์�O2��2%�1�%0N�?$��B#��  21�ค#  Oล0�2%%1�12ค/2#2��N%?$�%O1$ 

 O�/�2��2% 1��2�?P  _  �%>/6%�5��6%�O1��5��%%N�626�6%�"5$  �6%%5�16ค/6#2��
N%?$�%O1$  � 6�/�Pค%��6%�?P� 6N�>��6%  � 6�/�  c  Pค%��6%  �5��?Q   

 

ล 2�1��?P �AP1Pค%��2% ���%0#2�  (�2�) /#2$N/�B 
_ �O1��5�O'4O�OR��ั�/61B�5�>N/�B�6�����N/�

N�0�6'�N6� N 

-  N�0�6'�?Q/#N  N�O�N�>�  _g,ddf.g`  �6� 

-  N�0�6'2��%6��์  N�O�N�>�  _d,aec  �6� 

ad,^ba.g` ��  1��. 

` �5�/6�%4��2N1��6�PคO� cc,g^e.cc ��  1��. 
a �5�/6Nค%AP1�O��2#6�>�  1� %. de,`^^ ��  1��. 
b �5�/6�5��5�N '>� af,gff ��  1��. 
c �>��5Q��'O1�/��%�>�Q� AQ��?PN AP1ค/6#�'1�"5$

Q��?/>�O'4�%5 $์2>��1��%4�6�� 

ff^,^^^ ���%#2N�N2%>#3 

 

%/#���%0#2�                     _gf,_ag.be     �2� 

   

 b.  $B��022�%์�2% 1��2�O2��2%/2�O��2N�N2%>#�2%ล��B� 2�>�$�%%#Oล0�2%�N1�N�?P$/ 

 O�/�2��2% 1��2�?P  _  2N�N2%>#2�5�2�B�"6ค%5�  N1���  1�ค์�%/�B#��/Nค%A1�N6$16�?   
� 6�/�Pค%��6%�?P� 6N�>��6%  � 6�/�  _  Pค%��6%  �5��?Q   

 

ล 2�1��?P �AP1Pค%��2% ���%0#2�  (�2�) /#2$N/�B 
_ �'N1$ 5��B์�BO� , �C c^,^^^ ��  1��. 

%/#���%0#2�                      c^,^^^    �2� 

  

 O�/�2��2% 1��2�?P  `  2N�N2%>#�6%Q�OO'4�6%1�B%5�1์"616�O1��>P�  � 6�/�Pค%��6%�?P
� 6N�>��6%  � 6�/�  `  Pค%��6%  �5��?Q   

 

ล 2�1��?P �AP1Pค%��2% ���%0#2�  (�2�) /#2$N/�B 
_  5��6�6%N%?$��6%21�"616�N6��%4N�0

N AP1N�%?$#ค/6# %O1#N�O62CN�%4�6ค#16N�?$� 

_f^,^^^ ��  1��. 

` N >P#�5�14"616�N6��%4N�0O�N N$6/��
N�%?$#ค/6# %O1#2CN�%4�6ค#16N�?$� 

gd,^^^ ��  1��. 

%/#���%0#2�     `ed,^^^     �2� 

 

 

 

 

 



  

aa 

 

 c.  $B��022�%์�2% 1��2�O2��2%/2�O��2N�N2%>#�2%ล��B� 2�>�$�%%#Oล0�2%�N1�N�?P$/ 

 O�/�2��2% 1��2�?P  _  1�B%5�1์!AQ�!C�%5 $6�%�%%#�6�>O'42>P�O/�'O1#  � 6�/�
Pค%��6%�?P� 6N�>��6%  � 6�/�  _  Pค%��6%  �5��?Q   

 

ล 2�1��?P �AP1Pค%��2% ���%0#2�  (�2�) /#2$N/�B 
_ �%5��%B�"C#>�50�์21��O6��6����"6$Q�

� 6�'�O6$/6� 

`,_`c ��  1��. 

%/#���%0#2�      `,_`c    �2� 

 d.  $B��022�%์�2% 1��2�O2��2%�%>/2%�>��2%�O2�N#A1��?P�?Oล021�ค#�?P�? 
O�/�2��2% 1��2�?P  _   5��6�6%�%>/6%�5��6%�?P�?Q�1�ค์�%  � 6�/�Pค%��6%�?P� 6N�>��6%  

� 6�/�  b  Pค%��6%  �5��?Q 
 

ล 2�1��?P �AP1Pค%��2% ���%0#2�  (�2�) /#2$N/�B 
_ 1B�/�B�Pค%��6%�5��5Q�0C�$์%/#�O1#C'�N6/26%

�6%�5��AQ1�5��O6� �1�1��. %4�5�1 6N"1  
�%4� 6�?  `ccg 

``,cb^.ed ��  1��. 

` �5�� 6O���B#��O'4O�� 5��626#�?  �6%
�5�N�O��O1#C'�N6� N 

_a,_g` ��  1��. 

a 1�%#คB��%%#  �%>$�%%#Q/OO�N�CO� 6�O1��>P�  
 �5��6�2N/�� 6�'  'C��O6� 1��.�O6$/6� 

e,ec^ ��  1��. 

b �%5��%B�%4��N2?$��6#26$ ec,^^^ ��  1��. 
%/#���%0#2�       __f,bf`.ed   �2� 

 

 

 

 

 

 

 

 



  

ab 

 

O�/�2��2% 1��2�?P  `  �N12%O6�/�6%�%5��%B�2�6��?P��>�5�>�6�  � 6�/�Pค%��6%�?P� 6N�>��6%  
� 6�/�  c  Pค%��6%  �5��?Q 
 

ล 2�1��?P �AP1Pค%��2% ���%0#2�  (�2�) /#2$N/�B 
_ �5��AQ1/52�Bค%B"5��์�N6� N R/OQ�OQ�2 6�5��6� 

1��. 
d^c,g`^.gc ��  1��. 

` �B�%AQ 1/1�5 ��Q 6�%4�6  /#CN �?P  a  � 6�'                
�O6$/6� 

gg,^^^ ��  1��. 

a �$6$N��R!!O6%4��� 6/�N6$16ค6%0C�$์
 5��6N�O�N'O�  (O/N�Q/#N)  /#CN�?P  b  � 6�'
�O6$/6� 

bc,`eb.g_ ��  1��. 

b �$6$N���Q 6�%4�6  �6%�%4�62N/�"C#>"6ค
16ค6%0C�$์ 5��6N�O�N'O�  (O/N�Q/#N)  /#CN�?P  
b  � 6�'�O6$/6� 

bc,dda ��  1��. 

c � 6�5��B��์  � 6%B�2B� `f,c^^ ��  1��. 
%/#���%0#2�       fab,acf.fd   �2� 

 %/#���%0#2��?PQ�OQ��2%� 2N�>��2%�1Q�2>Q�  (�� 1��.)       b,gc`,f^e.bf �2� 

          (22#ลO2�/�O2�O��/#AP�21� 1�2?P�2�N�O22>�2�2�ค์�O/�) 

 N�>�1B�/�B��6�/�N/$�6�1AP� 

÷ �%#2N�N2%>#3       N�O�N�>�      _^,eb_,f^^      �6� 

÷ �%#�1��B�2/52�>�6%3      N�O�N�>�    ed,d^^      �6� 

        %/#�5Q�2>Q�       _^,f_f,b^^     �6� 

 2%B�  :    %/#���%0#2� (�� 1��.+N�>�1B�/�B�    � 2�/�N�>�    _c,ee_,`^e.bf    �2� 

(2>�/O2ลO2�N�O�O2�N�O�/#AP�/�@P� 1�21�%O1$N�O��2�2?P2>�O��2�2�ค์) 
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2. �ล�?PR�O%1��2��2%� 2N�>��2�Q��ี���%0#2�  .0. 2557 – 2560 

             2.1 �ล�?PR�O%1�/%A1�ล�?P2 2ค1� 

  �'�6%� 6N�>��6��1�1�ค์�6%�%>/6%2N/�� 6�'�O6$/6�  �6#$B��062�%์�6% 5��6 6 �O6�  
2N��'P�$�%��N1�%4�6��  N%>P#�5Q�O�NN�>�P1�62Q/O�%4�6��N2�1�ั�/6O'4ค/6#�O1��6% N AP1�%%N�6ค/6#
N�A1�%O1��5Q� P�$ค 6�@��@��%4P$��์�1�2N/�%/#N�O�/'5�  �@��A1R�O/N6N�O��6%�1�2�1�ค/6#�O1��6% O�OR�
�ั�/6/%A1�%%N�6ค/6#N�A1�%O1� R�O�%��B��?P2B� 1?��5Q�N�O��6%2�5�2�B�1�ค์�%��ค%1�2N/��O1��>P� 
/�N/$�6��1�%5�  "6ค�%4�6�� O'4N AP1 5��605�$"6 �6%�%>/6%�5��6%"6$Q�1�ค์�%   �'�?PR�O�6��6%
� 6N�>��6��4Q�OQ��6%�%5��%B� O�OR� �6%�$6$�1�N�� /%A1�6%$B�>�6%� 6N�>��6% O'4 >�6%�6ค/6#
21�ค'O1�O'4ค 6�@��@��6�4�6��6%ค'5� (���%4#6�) �1�1�ค์�%��ค%1�2N/��O1��>P��O/$ /N6#?N ?$� 1
/%A1R#N 1$N6�R% 

  �ล�?P2 2ค1� คA1 N#AP1N�>�P1�62Q/O�%4�6��#?2N/�%N/#�5��6%%N/#�%4�6ค#� 6�' / /#CN�O6�
%N/#ค>� %N/#� 6 N2�1O�4 N2�1�ั�/6ค/6#N�A1�%O1��1��%4�6��R�O�%��B� N�N� N%AP1��1����/��6� N%AP1�
�6%25��%�N6�N � 6Q/O�%4�6��Q�N�� AQ��?P1�ค์�6%�%>/6%2N/�� 6�'�O6$/6�  #?ค/6#24�/�2�6$�N1�6%
25��% / N�>��6� R�� 6�6�  �6%R�#6/62CN�6�> ?P�O1��5Q�Q��5�//5�O'4�N6��5�//5�  Q�2N/��1�16�?  R�O%5��6%
2N�N2%>#�6%�%4�1�16�?  �5Q��O6�N�1�%O'41B�26/�%%#Q�ค%5/N%A1�  /%A1�'BN#2#6�>��N 6�N N�N� �'BN#2�%?  
�'BN#11#�%5 $์  �%4�6��#?คB�"6 �?/>��?P�?�@Q� #?ค/6#2B�N >P#�@Q�   N�N� �O6�2B�"6 %N6��6$#?ค/6#�'1�"5$
�6�P%ค�>��N1 N�N� P%คR�ON'A1�11� P%ค >12B�5��O6 P%ค�>��N1�N6� N  #?�6%2N�N2%># (1B�/�B�) 16/6%�'6�/5�
O'416/6%N2%># (�#) Q/ON�O��5�N%?$� 2N�N2%>#�O6��6%0@�16�1�P%�N%?$�#5�$#0@�16O'4�%4�#0@�16 N�N� 
1B�/�B��6%�O6�ค%C21�"616�N6��%4N�0  2N�N2%>#�>��%%#/Pค%��6%�1��6%0@�16�6#15��$625$  (�0�.)  
R�O%5��6%�N/$N/'A1�O6�25�ค#2�Nค%64/์  N�N� N�?Q$�CO2C�16$B N�?Q$�CO >�6%  �6%�N/$N/'A1�CO$6�R%OO'4
�CO�O1$P1�62  N AP1�%%N�6�B��์N�AQ1��O� �6#%4N�?$�� 6/��O'4�6#ค/6#N/#642#  N�O��O�  �1��6��?Q
�%4�6��Q�N�� AQ��?P� 6�'�O6$/6�  $5�N�>�ค/6#%CO2@�%5��>P��6��O6�N�>��1���N1�N >P#�@Q� N %64%CO2@�/N6N�O�
2N/�/�@P��1��6%#?2N/�%N/#Q��6% 5��6�B#�� AQ��?P�1���N1��5�1�ค์�%��ค%1�2N/��O1��>P� � 6Q/ON�>�ค/6#
%5�ค/6#26#5คค? #?ค/6#16�% N1AQ1N!AQ1N�AP1O�N�5�#6��@Q� N�O��O� 

       2.2 �ล�%0�� 

  �ล�%0���?PN�>��6��6%� 6N�>��6��1�1�ค์�6%�%>/6%2N/�� 6�'�O6$/6�  �?PN�N��5��6%
 5��6�O6�Pค%�2%O6� AQ��6�  �O1�Q�O���%4#6�� 6�/�#6� �@P�1�ค์�6%�%>/6%2N/�� 6�'�O6$/6� #?
���%4#6�Q��6%� 6N�>��6%1$N6�� 6�5��N1�6% 5��6�O1��>P� �5��5Q� �6% 5��6�O6�Pค%�2%O6� AQ��6�  �?PN�O�
Pค%��6%�?PN�>�05�$"6 Q�O���%4#6�� 6�/�#6�  �@�� 6N�O�N2�1Pค%��6%N�>�05�$"6 N/'N6�5Q�  �N11�ค์�6%
�%>/6%2N/��5�//5�2#B�%2�ค%6# N AP12�5�2�B����%4#6�/%A1� 6N�>��6%Q/O   16��4R#N#?ค/6#�N1N�AP1� Q�
N%AP1��1�N/'6 /%A1�6%Q�ON/'6$6/�6� �6%�%>/6%�5��6% /%A1R#N26#6%�1 6�/$ค/6#24�/�Q/O�%4�6��R�O
R#N�5��N/��?O�N $6$6#�?QO��Q/O�%4�6��N�O6Q��N1%4�� �N1�5Q��1� �N1�6%�%>/6%�5��6%�N6�N �'1���
���%4#6��?P�6�1�ค์�6%�%>/6%2N/��5�//5�26#6%�2�5�2�B�R�O/%A1R#N #6��O1$ N ?$�Q� N�O��O� 

 



  

ad 
 

3. 2%B��ั�/21B�2%%ค�2%� 2N�>��2��?P�N2�#2Oล0O�/�2��2%O�OR� �ี���%0#2� 
 .0. 2557 – 2560 

         3.1 �ั�/21B�2%%ค�2%� 2N�>��2��?P�N2�#2   
  �6%� 6/��/'5�N���์O�/�6��6%N2�1Pค%��6%N AP1�%%�BQ�O�� 5��6�O1��>P�O'4�6%
�5�� 6O�� 5��6�O1��>P��?P�N6�#6  R�O�%%�BPค%��6%�?PN�O�ค/6#�O1��6%�1�N/�?�%4�6ค#%4�5�/#CN�O6�
O'4N/�?�%4�6ค#%4�5�� 6�'R/OQ�O�� 5��6�O1��>P�#6�N�>�R�  N#AP1N�?$��5����%4#6��1�1�ค์�6%
�%>/6%2N/�� 6�'�O6$/6� O'O/R#N26#6%�� 6N�>��6%R�O�5 Q�/#�"2$Q��ี���%0#2��1Q�N Oล0N#A P1
Pค%��2%�?PN2�1N�O2#2R#NR�O� 2N�>��2%  O�N$1�ค��%%�BR/OQ�O�� 1��222#�ี Q��ี�N1N#21?� � 2Q/O
Pค%��2%�1Q�N�N2Oล0Q/#N 202#R�N%AP1$N 1?��1Q��%0�2��12��2�ค/2#%COค/2#N�O2Q� Q�2N/��1��2%
N2�1�ั�/2Oล0ค/2#�O1��2%  �%0�2���@�N2�1�ั�/2Oล0ค/2#�O1��2%N�N2�?P1$2�N2�1  P�$R#N
ค 2�@��@� ค/2#� 2N�็�N%N��N/�  /%A1�2%�1�ล 2�1�ค/2#2 2ค1��N1�- /ล1� /%A1Pค%��2%�?PN2�1�1Q�N�>�
�%0P$��์�N12N/�%/#/%A1R#N  1?��1Q����%0#2��?P#?1$CN#2��O1$N ?$�Q�  N�็��O�  

     3.2 O�/�2��2%O�OR�   

    3.2.1  �?QO��O'42%O6�ค/6#%COค/6#N�O6Q�Q�2N/��1��6%�5�N/�?�%4�6ค# Q/O�%4�6���%6�/N6 �6%  
�5�N/�?�%4�6ค#N AP1Qค%  �O1��6%14R%  /%A1N�>��%4P$��์�N1Qค%�O6� N%N��N/�/%A1R#N O'4คBO#คN6/%A1R#N �5�
�6%Q�O���%4#6�Q��6%�%>/6%�5��6%Pค%��6%�?P� 6N2�1�5Q�  
 a.`._  �?QO��O'42%O6�ค/6#N�O6Q� N%AP1��6%#?2N/�%N/#�5Q��N6$�CO� 6�O1��>P� �CO� 6�O1��?P  �O6%6��6%O'4
N�O6/�O6�?P O'4"6ค�%4�6��  P�$�N/$�5�N2�1�ั�/6O'4ค/6#�O1��6%�?PN�O�ค/6#N�A1�%O1�N%N��N/�  /%A1R#N
N%N��N/�  � 6ค/6#N�O6Q�Q��6%N%?$�' 6�5�ค/6#2 6ค5� �N1� - /'5�  �@P�Q�N/�?�%4�6ค#$1#%5�O'4N/O� O1�
�O1��5�N�O�N1��5��์Q�N/�?�%4�6ค# 

 a.a.a  �6%N2�1�ั�/6O'4ค/6#�O1��6%�1��%4�6�� ค/%N�O�Pค%��6%�?PN#AP1#?�6%� 6N2�1O'O/#?
ค/6#N�O�R�R�O 26#6%�� 6N�>��6%R�OO'4#?ค/6#N/#642#�5��6%Q�O���%4#6�/%A1R#N 
 a.a.b  �6%N2�1�ั�/6O'4ค/6#�O1��6% N�>��%4P$��์�N125�ค#P�$%/#2C�2B�/%A1R#N O'4#?ค/6#
คBO#คN6Q��6%Q�O���%4#6� O'4�?P2 6ค5� คA1 �O1�ค 6�@��@��6�4�6%ค'5��1��O1��>P��O/$  
 a.a.c  N#AP1#?�6%N2�1�ั�/6O'O/  �6%�5�' 6�5�ค/6#2 6ค5��N1� - /'5� O'O/  >�6%�6�6%Q�O
���%4#6�O'O/ N�O�#�>$1#%5��1�N/�?�%4�6ค#O'O/ �@�%/�%/# N%?$�N%?$�O'4�%%�BQ�O�� 5��626#�?  (�?P
�N6�#6) �N1R�  
 a.a.d  N#AP1%/�%/#N%?$�N%?$�N2%O�2>Q� �@��5��%4�B#ค�4�%%#�6%2�5�2�B� N�O�ค�4O%� �@P�
�%4�1��O/$ /5//�O62N/��1�1�ค์�%�B�2N/� �COO���%4�6ค#�O1��>P��6#%4N�?$�� 6/�� #6�%4�B#�5�N AP1
%N/#�5� >�6%�6Pค%��6%�5Q�/#� �6#1 6�6�/�O6�?P�?P%4N�?$�� 6/�� O'4N#AP1#�>�?P�%4�B#N/O�/N6ค%��O/�
�C��O1�  �@�� 6N2�1ค�4�%%#�6% 5��6�O1��>P� �@P�#?�CO�%>/6%�O1��>P�N�O��%4�6��%%#�6%3 O'4�5/O���6�
"6ค/2N/��N6�N �?P%4N�?$�� 6/�� N AP1%N/#�5� >�6%�6Pค%��6%�5Q�/#��@P��N6�ค/6#N/O��1��6� 

 



  

ae 
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1. ค/2#21# 1��์%0//N2�O�� 1��2%0�1�#/2"2ค 
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1$N6�$5P�$A� 

       c) $B��022�%์�O2�ค/2##1P�ค� Q/Oค/6#2 6ค5��5�ค/6##5P�ค��?P2N��'�%4���N1�6% 5��6Q�
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N�AP1#5P�Q��%4�/��6%$B�>�%%# (a) ค/6#2��2B�O'4�6%1$CN%N/#�5�1$N6�25��>2B�Q��B� AQ��?P (b) �6%�%>/6%
�5��6%ค/6##5P�ค��6$O���6$�ัP��4N' N2%>#2%O6�O'4 5��6ค/6#%N/##A1�5��%4N�0N AP1��O6� Q��6%O�OR�
�ั�/6�O6�ค/6##5P�ค� (c) 2%O6�ค/6#N�AP1#5P�O'4 5��6ค/6#%N/##A1Q��'BN#�%4N�016N�?$�O'4�%4�6ค#
P'�N AP1%5�16�'�%4P$��์�1��6�> Q/O26#6%��O1��5�O�OR��ั�/6"5$คB�ค6#�O6#�6�> "5$�N1�6%%O6$ (d) 
N2%>#2%O6�ค/6##5P�ค��6�N�คP�P'$?26%2�N�0O'4R�N�1%์ (e) %5�16ค/6##5P�ค��1��6��%5 $6�%�%%#�6�> 
2>P�O/�'O1# O'4���O1� %5�16�'�%4P$��์�1��6�>�6��4N' (f) N2%>#2%O6�ค/6##5P�ค��6�16/6%  '5��6�
O'4�Q 6 P�$�6%� 6/��O�/�6��%>/6%�5��6% (g) N2%>#2%O6�O'4 5��605�$"6 �6%�O1��5��%4N�0 �6%
%5�16ค/6#2��"6$Q� O'4ค/6##5P�ค�%4//N6��%4N�0 %/#�5Q� 5��6%4���N6/�%1�Q/O#?�%42>��>"6  (_^) 
 5��6%4���6%N�%?$# %O1#O/N��6�>O'4%4���%>/6%�5��6%"5$ >�5�>(__) �6%�%>/6%�5��6%$B��062�%์�O6�
ค/6##5P�ค� Q/ON�>��'Q��6���>�5�>Q�%4�5� AQ��?PR�O1$N6�N�O�%C��%%#  5��6%4���6%�>��6#�%4N#>��'1$N6�
N�O�%4��O'4�N1N�AP1� %/#�5Q�2�5�2�B��6�0@�16 />�5$  5��6�O6�ค/6##5P�ค� 

       d) $B��022�%์�O2��2%N >P#�%02>��>"2 Oล0�%%#2">�2ลQ�"2ค%1� N AP1Q/O�6%�%>/6%�5��6%
"6ค%5�#?ค/6#P�%N�Q2 #?�%42>��>"6  #?ค/6#%5��>��1�O'4�%/�21�R�O1$N6�N�O��%%#%/#�5Q��%4�6��#?
2N/�%N/# #?�6%�%4�6$1 6�6� O'4O�N�"6%�>�%5��>��1��?PN/#642#%4//N6�2N/��'6� "C#>"6ค O'4�O1��>P� 
P�$#?�%4N�O��6% 5��62 6ค5� �%4�1��O/$�6%N >P#�%42>��>"6 �6%�%>/6%�5��6%"6ค%5� �6%�%5��%B��6%
Q/O�%>�6%"6ค%5��N6�Nค%A1�N6$1>N'O��%1�>�2์ (E-Government) �6%�%5��%B��%4�/��6%���%4#6� O'4
�6%#?2N/�%N/#�1��%4�6��Q��6%�>��6#�%/�21��6%N�>��6%ค'5�"6ค%5� �6%�%4�6$1 6�6�2CN�O1��>P�P�$
�6%�%5�Pค%�2%O6��6%�%>/6%�6��O1��>P�Q/ON1AQ1�N1�6%�%4�6$1 6�6��?P#?�%42>��>"6 #6��@Q� O'4�6%
�O1��5�O'4�%6��%6#�6%�B�%>�ค1%์%5��5P� N AP1Q/O�%4N�0R�$�%60�6��6%ค1%์%5��5P� �@P��4N�O��ั��5$ 

 

 



  

b_ 
 

2�5�2�B�2 6ค5��?P�4�N/$2N�N2%>#�6% 5��6�%4N�0Q��O6��N6�N Q/O�%42��'2 6N%O�O'4�%%'BN�O6/#6$�?P/6�
R/O�6#�%1�Q�1�6ค��%4N�0R�$�? `cee 

       e) $B��022�%์�O2��2% 1��2Pค%�2%O2� AQ��2�Oล0%0��Pล�>2�>�2์  �6% 5��6Pค%�2%O6�
 AQ��6�O'4%4��'1�>2�>�2์Q��N/�O�� 5��63 ��5��?P _` �4#BN�N�O��6% 5��6�6$"6 Pค%�2%O6� AQ��6�
�O6��6%ค#�6ค#��2N� �6%N�AP1#P$�Nค%A1�N6$P�%ค#�6ค# O'4�6%�%>/6%�5��6%Pค%�2%O6� AQ��6�N AP1
2�5�2�B��6% 5��6 AQ��?PN��N0%1��>� >N01  AQ��?PN#A1��6%N�AP1#P$��6%N�>��6�O'4��2N�2>�คO6%4//N6�
�%4N�0�?PR�O#6�%�6� �6% 5��6ค/6##5P�ค��O6� '5��6�O'4�6%�'>� '5��6���O�� �6%2�5�2�B��6%
 5��6N0%1��>��>�>�1'�6%'�ค/6#N/'AP1#'Q 6Q��6%N�O6�@�Pค%�2%O6� AQ��6�N AP1N >P#คB�"6 �?/>��1�
�%4�6��Q� AQ��?P/N6�R�' O'4�6%Q�O�%4P$��์�6��6% 5��6Pค%�2%O6� AQ��6�N AP12%O6�1B�26/�%%#Q/#N�1�
�%4N�0 R�OO�N 1B�26/�%%#%4��%6� 1B�26/�%%#�N1#� 6%B�O'4�6%�'>��>Q�2N/�16�60$6� 1B�26/�%%#
�'>�1B��%�์N AP1N >P#�%42>��>"6 �6%Q�O '5��6� %/#�5Q��6% 5��6%4��P'�>2�>�2์�5Q�Q��O6��6%2N�N2%>#
�CO�%4�1��6%R�$Q��6%2%O6�Nค%A1�N6$�6%��2N�%4//N6��%4N�0 �6% 5��6�Bค'6�%�O6�P'�>2�>�2์O'4�6%
�%5��%B�%4���%>/6%�5��6% ��/#6$O'4%4N�?$��?PN�?P$/�O1� �'1����6% 5��62>P�1 6�/$ค/6#24�/�N AP1
%1�%5��6%N�'?P$�O�'�%C�O���6%��2N��6����2CN%6�N�O�/'5� 

       f) $B��022�%์�O2�/>�$2022�%์ N�คP�Pล$? />�1$ Oล0�/1��%%# Q/Oค/6#2 6ค5��5��6%
�5�Nค'AP1��6% 5��6/>�$6062�%์ N�คP�P'$? />�5$ O'4�/5��%%# �N1N�AP1��6�O�� 5��63 ��5��?P __ �5Q��6%
N >P#�6%'��B�/>�5$O'4 5��6 O'4�6%�%5��%B�2"6 O/�'O1#�1��6% 5��6/>�$6062�%์3 �5Q��O6��Bค'6�%
/>�5$ Pค%�2%O6� AQ��6� O'4�6%�%>/6%�5��6% N AP1#BN�Q/O/>�$6062�%์ N�คP�P'$? />�5$ O'4�/5��%%#N�O�
Nค%AP1�#A12 6ค5��?P�4�N/$�5�Nค'AP1��6% 5��6�%4N�0Q�#>�>�N6�N �5Q��6%2%O6�คB�คN6O'4#C'คN6N >P#Q/O�5�2>�คO6
O'4�%>�6%Q/O26#6%��1�2�1�ค/6#�O1��6%�1��CO�%>P"ค�?PN�'?P$�O�'�R�� 6R�2CN05�$"6 �6%O�N� �5��?P
2C��@Q� N2%>#2%O6�25�ค#�?P#?�%%�4�6�ค/6#ค>� #?�B��6��ั��6 N AP1N�O�%6��6��6%� 6%��?/>��?P#?ค/6#2B��1�
ค�R�$ �%>/6%�5��6%�%5 $6�%�%%#�6�>O'42>P�O/�'O1#2CNค/6#2#�B' 15��4� 6#6�@P�คB�"6 �?/>��?P�?�@Q��1�
�%4�6�� %/#�5Q�N AP1O�OR��ั�/6O'4$�%4�5�ค/6#N�%>�Q/O�5�"6ค2N/��N6�N�5Q�N0%1��>�O'425�ค# 
�'1���2�5�2�B�Q/ON�>��'R��C%�6�6%%4//N6�/�N/$�6�O'41�ค์�%�N6�N �?PN�?P$/�O1� 15��42�5�2�B�Q/O
�%4N�0R�$�O6/2CN�6%O�N��5�Q�0�/%%1/�O6P�$/'B� O��6��5��5��%4N�0%6$R�O�6��'6� O'4�O6/R�2CN
�%4N�0�?P#?%6$R�O2C�Q�1�6ค� 

       g) $B��022�%์�2% 1��2"2คN#A1� Oล0 AQ��?PN0%1��>� � 6/��$B��062�%์�6% 5��6"6ค
N#A1� O'4 AQ��?PN0%1��>�2 6ค5�Q/O21�ค'O1��5��>0�6��6% 5��6�%4N�0 05�$"6  P1�62O'4�O1� 6�5��1�
 AQ��?P %/#�5Q�ค/6#�O1��6%�1�"6ค?�6% 5��6�?PN�?P$/�O1� N AP1%5�16�6�N0%1��>�N�>#Q/ON�O#O�O�P�$#?คB�"6 
2>P�O/�'O1#�6##6�%�6�26�'2%O6��6�N0%1��>�Q/#N%1�%5��6%N�O62CN�%4�6ค#N0%1��>�16N�?$� N AP1
�%4�6$�>��%%#�6�N0%1��>�O'4ค/6#N�%>�2CN"C#>"6ค  5��6N#A1�0C�$์�'6�ค/6#N�%>�Q�"C#>"6คQ/ON�O�
N#A1��N61$CNO'4�'1�"5$ 2�5�2�B��6%N�AP1#P$�Q�"C#>"6คN AP1N >P#�?�ค/6#26#6%�Q��6%O�N��5��1� AQ��?PO'4
2%O6�ค/6#1$CN�?#?2B�Q/OO�N�%4�6��1$N6��5P/�@� P�$#?26%4ค%1�ค'B# �5��?Q (_) �6% 5��6"6ค (`) �6% 5��6
N#A1�0C�$์�'6�ค/6#N�%>�Q�"C#>"6ค (a) �6% 5��6 AQ��?P�6�N0%1��>�/'5��%>N/��6$�ัP��4N'�4/5�11� O'4 
(b) �6% 5��6 AQ��?PN0%1��>� >N01�6$O�� %/#�5Q�ค/6#N�AP1#P$��5��6% 5��6ค'52N�1%์1B�26/�%%#O'4
�%>�6%�?P#?05�$"6  O'4Pค%��6% 5��6�N6N%A1�Q 6'@��/6$ 
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       _^) $B��022�%์�O2��2%�N2��%0N�0 �%0N�0N AP1��O2� Oล0"C#>"2ค � 6/��$B��062�%์�6%
�N6��%4N�0 �%4N�0N AP1��O6� "C#>"6ค Q/ON�>��6%�%426�O'4 5��6ค/6#%N/##A1�5�%4//N6��%4N�0 �5Q�Q�
N�>�%B�O'4%5�1$N6�2%O6�2%%ค์ P�$#BN�N�O��6%�CO'�6%� 6N�>��6��6#�O1�C� 5�O'4 5���%�?�'1���
#6�%�6��N6�N �?PR�$#?ค/6#N�?P$/�O1�Q��6�4�%4N�02#6�>� �5Q�Q�N/�?%4�5�P'� %4�5�"C#>"6ค O'4%4�5�1�B
"C#>"6ค 16�> �6%� 6N�>��6�N�O6/#6$�6% 5��6�?P$5P�$A� (SDGs) �6%�%4#� �6%คO6#�B1$์ O'41AP�N Q/ON�O62CN
#6�%�6�26�'O'4N�O��?P$1#%5��1��%4�6ค#P'� N�O��O� �6%N�%?$#ค/6# %O1#Q��6%%1�%5�O'4
� 6N�>��6��1��%4N�0R�$"6$/'5��6%N�O62CN�%4�6ค#16N�?$�Q��? `ccf (Post-ASEAN 2015) �6%
�%5��5/O'4 5��6�?�ค/6#26#6%�Q��6%O�N��5��1��%4N�0N AP1%1�%5�O'421�ค'O1��5��6%� 6N�>��6��6#
 5���%�?�1�ค/6#%N/##A1%4�5�"C#>"6ค 16�> Regional Comprehensive Economic Partnerships 

(RCEP) N�O��O� �6%N2%>#2%O6�ค/6#N�AP1#P$��5�%4//N6��%4N�0Q�1�B"C#>"6ค�%4N�0N AP1��O6�O'4"C#>"6ค 
O'4�6%2N�N2%>#Q/O�%4N�0R�$N�O��6��1��6%�%4�1��B%�>� �6%Q/O�%>�6%�6��6%0@�16 �6%Q/O�%>�6%�O6�
�6%N�>� �6%Q/O�%>�6%�O6�2B�"6  �6%Q/O�%>�6%�O6�P'�>2�>�2์O'4�6%'��B�N AP1�6%/>�5$O'4 5��6 %/#�5Q�
N�O��6�ค/6#%N/##A1Q�N1N�?$ 

      1.3 O�� 1��2"2ค / O�� 1��2�ลBN#�1�//1�/O�� 1��2�1�//1� 

1.3.1 $B��022�%์�2% 1��2�ลBN#�1�//1�"2ค�ล2��1�ลN2� 2 

1) />21$�10�์ 
  <�6�N AP1�6%'��B��O6�1B�26/�%%# N�1�%�%%# 16/6% O'4�6%�N1�N�?P$/= 

    `) N�O2�%02�ค์%/# 

 (1) �%5 $6�%25�/์�Q 6N >P#�@Q� 

 (2) 2>�คO6N�1�%#?คB�"6 �'1�"5$O'4R�O#6�%�6� 

 (3) %6$R�O�6��6%�N1�N�?P$/ 2>�คO6 O'4�%>�6%N >P#�@Q� 

 (4) O/'N��N1�N�?P$/O'4 AQ��?PN0%1��>�#?ค/6#N�AP1#P$�N�O�%4�� 

 (5) �6%�5�N�64�6$�ัP��4N'R�O%5��6%O�OR�1$N6�N/#642# 

 3)  �%0N�O�$B��022�%์Oล0�ล$B��์ 

         �%0N�O�$B��022�%์�?P  1  :  �2%2%O2��O��B��2��%1 $2�%N AP1�2%ล��B� 

   �'$B��์�?P  1.1  �%>/6%�5��6%O'4!AQ�!C�%5 $6�%25�/์�Q 6Q/Oค�ค/6#1B�#2#�C%�์ 

   �'$B��์�?P  1.2   5��6%4���6%�'>�O'4�6%�5��6%2>�คO6�O6��6%N�1�% 

   �%0N�O�$B��022�%์�?P  2  :  2%O2�ค/2#N�AP1#P$��1��2%�N1�N�?P$/Oล0 AQ��?PN0%1��>� 

   �'$B��์�?P  2.1  N >P#05�$"6 �6��6%คO6 �6%�N1�N�?P$/O'4N�AP1#P$� AQ��?PN0%1��>� 

�'$B��์�?P  2.2  2%O6�ค/6#25# 5��์�6��6%คO6 �6%'��B� O'4�6%�N1�N�?P$/�5�
�%4N�0N AP1��O6� 

   �%4N�O�$B��022�%์�?P  3  :  �2%1�B%1�1์�%1 $2�%�%%#�2�>Oล02>P�O/�ลO1# 

   �'$B��์�?P  3.1  �O1��5��6%�5�N�64�6$�ัP� 
                                �'$B��์�?P  3.2  �%>/6%�5��6%�O6��%5 $6�%�%%#�6�>O'42>P�O/�'O1#  
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4) �B�N�O��2�$B��022�%์ 
(1) O/'N��N1�N�?P$/�6��4N'�6�6�6�> 
(2)  �6��6%�'>�16/6%2CNค%5/P'� 

 

1.3.2 $B��022�%์�2% 1��2�1�//1�2#B�%2�ค%2# 

1) />21$�10�์�1�//1�2#B�%2�ค%2# 

<N#A1�O/N�/>�?�?/>� 3 �Q 6 O/'N�16/6%�4N'O'4�'�'>�N�1�%�'1�"5$ O/'N��N1�N�?P$/N�>�
1�B%5�1์O'4/5���%%# %N/#N�O�/�@P�Q��%4�6ค#16N�?$�= 

2) �%0N�O�$B��022�%์�2% 1��2�1�//1�  N�O2�%02�ค์  Oล0�ล$B��์ 
 O2���%0N�O�$B��022�%์�2% 1��2�1�//1�  N�O2�%02�ค์  Oล0�ล$B��์ 

�%0N�O�$B��022�%์ N�O2�%02�ค์ �ล$B��์ 
�%0N�O�$B��022�%์�?P 1 : 
2N�N2%>#Oล0 1��2Q/ON�็�
0C�$์�ล2��2%�N1�N�?P$/  
N�>�1�B%1�1์Oล0/1���%%#
�?P21�คลO1��1�/>�?�? /> �
1$N2�$1P�$A� 

1. N�O�O/'N��N1�N�?P$/N�>�
1�B%5�1์O'4/5���%%#1$N6�
2%O6�2%%ค์O'4N >P##C'คN6
� 6 � N0 %1��> �  � 6#/> �?
2#B�%2�ค%6# 

 

1.  5��6�6%�%>/6%�6%�5��6%�N1�N�?P$/P�$
� 6N�คP�P'$?26%2�N�0O'4� 6�%4�/��6%
N%?$�%CO  (Learning Process) N�O6#6N >P#
�%42>��>"6  

2.  5��6O/'N��N1�N�?P$/Q/O#?'5�1�4P��N�N�
N� 64 O'4Pค%�2%O6� AQ��6� N AP1�%>�6%O'4
1 6�/$ค/6#24�/�O�N�5��N1�N�?P$/ 

3. 2�5�2�B�O'42N�N2%>#�6%�N1�N�?P$/N�>�
1�B%5�1์%C�O��Q/#N N�N� �6%�N1�N�?P$/N�>�
2B�"6  (Health Tourism) �6%�N1�N�?P$/N AP1
16$B/5��4 (Spa and Wellness Tourism) 
�N1�N�?P$/N�>�/5���%%#O'4�B#�� (Cultural 

and Community based Tourism) O'4�6%
�N1�N�?P$/�CO2C�16$B (Senior Tourism) P�$
21�ค'O1��5��%5 $6�%O'4/5���%%#�B#�� 

4. 2N�N2%>#�6%�%4�625# 5��์   2%O6�2%%ค์
�>��%%#N AP12%O6�คB�คN6O'4#C'คN6N >P#�6�
N0%1��>� 

5.  N2%> #2%O 6 �ค/6#�'1�"5$Q��? />�O'4
�%5 $์2>��1��%4�6��O'4�5��N1�N�?P$/ 

1.3.3 $B��022�%์�2% 1��2�1�//1�2#B�%2�ค%2# 

2) />21$�10�์�1�//1�2#B�%2�ค%2# 

<N#A1�O/N�/>�?�?/>� 3 �Q 6 O/'N�16/6%�4N'O'4�'�'>�N�1�%�'1�"5$ O/'N��N1�N�?P$/N�>�
1�B%5�1์O'4/5���%%# %N/#N�O�/�@P�Q��%4�6ค#16N�?$�= 

3) �%0N�O�$B��022�%์�2% 1��2�1�//1�  N�O2�%02�ค์  Oล0�ล$B��์ 
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O2���%0N�O�$B��022�%์�2% 1��2�1�//1�  N�O2�%02�ค์  Oล0�ล$B��์ 
�%0N�O�$B��022�%์ N�O2�%02�ค์ �ล$B��์ 

�%0N�O�$B��022�%์�?P 1 : 
2N�N2%>#Oล0 1��2Q/ON�็�
0C�$์�ล2��2%�N1�N�?P$/  
N�>�1�B%1�1์Oล0/1���%%#
�?P 21�คลO1��1�/>�?�? /> �
1$N2�$1P�$A� 

1. N�O�O/'N��N1�N�?P$/N�>�
1�B%5�1์O'4/5���%%#1$N6�
2%O6�2%%ค์O'4N >P##C'คN6
� 6 � N 0%1��> �  � 6#/> �?
2#B�%2�ค%6# 

 

1.  5��6�6%�%>/6%�6%�5��6%�N1�N�?P$/P�$
� 6N�คP�P'$?26%2�N�0O'4� 6�%4�/��6%
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N� 64 O'4Pค%�2%O6� AQ��6� N AP1�%>�6%O'4
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3. 2�5�2�B�O'42N�N2%>#�6%�N1�N�?P$/N�>�
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 AQ��6�Q/OR�O#6�%�6� 
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N2%>#2%O6�  2B�"6 1�6#5$  �O1��5�  O�OR�  ค/�คB#  P%ค�>��N1  O'4P%คR#N
�>��N1 

2.2 2N�N2%>#2�5�2�B��6%#?2N/�%N/#�6��6%0@�16  �6%�?06�5���6�6%  O'4
�'C��ั�คN6�>$#/'5� 12 �%4�6% Q/O�5�N�O�  N$6/��  �%4�6��  ค� >�6%  
%/#�@��CO�O1$P1�62 

2.3 2N�N2%>#2�5�2�B��6%�5�2/52�>�6%Q/Oค/6#�N/$N/'A1N�O�  2�%?  �CO2C�16$B  ค�
 >�6%  �CO�O1$P1�62  O'4�CO�>�N�AQ1N1�2์ 

2.4  5��62�6�5�ค%1�ค%5/  �B#��  O'425�ค#  Q/O#?ค/6#N�O#O�O�"6$Q�O
/'5��%5��6N0%1��>� 1N ?$� O'4�6#/'5�คN6�>$# 12 �%4�6% 

2.5 2N�N2%>#�6%#?2N/�%N/#�1�"6ค%5�  "6คN1���  O'4�%4�6��"6$Q�O
�%1�O�/ค>�คN6�>$# 12 �%4�6% 

2.6 2�5�2�B�O'42%O6�ค/6#N�O#O�O�Q��6%� 6%B�%5�16  0>'�4  /5���%%#  
�%4N �?  "C#>�ั��6�O1��>P�N AP1N�O�"C#>คBO#�5� 2%O6�ค/6#N�O#O�O�O'4$5P�$A� 
�O6/2CN�%4�6ค#16N�?$� 

3 .  �2% 1��2�O 2 ��2 %     
�1 � % 0 N �? $ ��B #� � /
21�ค# �2%%1�12ค/2#
2��N%?$�%O1$   
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N�>��6%1�B%5�1์O'4N�$O %N�%4N �? 
0>'�/5���%%#�O1��>P� 

�ล$B��์  �1/�?Q/1�%0�1��ล$B��์ 

1. �%>/6%�5��6%�6%�O1��5�  �%%N�626�6%�"5$  �6%
%5�16ค/6#2��N%?$�%O1$ ค/6#�'1�"5$Q��?/>�O'4
�%5 $์2>��1��%4�6�� 

1.1 � 6�/�Pค%��6%N�?P$/�5��6%�O1��5� �%%N�6 
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2N/��?P  c  �2%�>��2#Oล0�%0N#>��ล 

c._  �2%�>��2#Oล0�%0N#>��ล$B��022�%์ 
1.1 �%1�Oล0O�/�2�Q��2%�>��2#Oล0�%0N#>��ล 

  1)  �%1�Q��2%�>��2#Oล0�%0N#>��ล 

�O/$%5��%%#�C�O/N�%6�16�6�5�%R�$   B��05�%6� 2555 #6�%6 238 /%%ค 3 �5��5�>Q/O1�ค์�%
��ค%1�2N/��O1��>P��O1�%6$�6��'�6%� 6N�>��6��N1�%4�6��Q�N%AP1��6%�5�� 6���%4#6�  �6%Q�O�N6$O'4
�'�6%� 6N�>��6�Q�%1��?  N AP1Q/O�%4�6��#?2N/�%N/#Q��6%�%/�21�O'4� 6�5��6%�%>/6%�5��6%1�ค์�%
��ค%1�2N/��O1��>P� �%4�1��5�%4N�?$��%4�%/�#/6�R�$ /N6�O/$�6%�5�� 6O�� 5��6�1�1�ค์�%��ค%1�
2N/��O1��>P�  .0. 2548  �O1 28 R�O� 6/��1�ค์�%4�1��1�ค�4�>��6#O'4�%4N#>��'O�� 5��6�O1��>P� 
�@P��%4�1��O/$ 2#6�>�2"6�O1��>P��?P2"6�O1��>P�ค5�N'A1�� 6�/�26#ค� �COO���%4�6ค#�O1��>P��?P�%4�6ค#
�O1��>P�ค5�N'A1�� 6�/�21�ค� �COO��/�N/$�6��?PN�?P$/�O1��?P�CO�%>/6%�O1��>P�ค5�N'A1�� 6�/�21�ค� /5//�O6
2N/��6%�%>/6%�?Pค5�N'A1��5�N1�� 6�/�21�ค� �CO�%�คB�/B�>�?P�CO�%>/6%�O1��>P�ค5�N'A1�� 6�/�21�ค� P�$Q/O
ค�4�%%#�6%N'A1�ค�4�%%#�6%/�@P�ค�� 6/�O6�?P�%4�6�ค�4�%%#�6%O'4�%%#�6%1?�/�@P�ค�� 6/�O6�?P
N'�6�B�6%�1�ค�4�%%#�6% P�$ค�4�%%#�6%�5Q�/#�Q/O#?/6%41$CNQ�� 6O/�N�ค%6/'421��?O'416�R�O%5�
�6%ค5�N'A1�1?�R�O O'4�O1 29 (1) � 6/��O�/�6� />�?�6%Q��6%�>��6#O'4�%4N#>��'O�� 5��6 (2) 
� 6N�>��6%�>��6#O'4�%4N#>��'O�� 5��6 (4) O�N��5Q�ค�41�B�%%#�6%/%A1ค�4� 6�6�N AP1�N/$��>�5�>�6�
�6#�?PN/O�2#ค/% O'4%4N�?$��%4�%/�#/6�R�$ /N6�O/$�6%�5�� 6O�� 5��61�ค์�%��ค%1�2N/��O1��>P� 
(��5��?P 2)  .0.2559 �O1 13 Q/O$�N'>�ค/6#Q� (3) �1��O1 29 %4N�?$��%4�%/�#/6�R�$/N6�O/$   �6%
�5�� 6O�� 5��6�1�1�ค์�%��ค%1�2N/��O1��>P�  .0. 2548 O'4Q/OQ�O�O1ค/6#�N1R��?QO�� 

<(3)  %6$�6��'O'4N2�1ค/6#N/O��@P�R�O�6��6%�>��6#O'4�%4N#>��'O�� 5��6�N1�CO�%>/6%�O1��>P�  
N AP1Q/O�CO�%>/6%�O1��>P�N2�1�N12"6�O1��>P�  O'4ค�4�%%#�6% 5��6�O1��>P�   %O1#�5Q��%4�60�' �6%
�>��6#O'4�%4N#>��'O�� 5��6Q/O�%4�6��Q��O1��>P��%6�Q��?PN�>�N�$"6$Q�2>�/O6/5�   �5�O�N/5�%6$�6�
�'O'4N2�1ค/6#N/O��5��'N6/O'4�O1��>��%4�60R/ON�O�%4$4N/'6R#N�O1$�/N626#2>�/5�  P�$1$N6��O1$�?'4
21�ค%5Q�"6$Q�N�A1�N#16$�O'4"6$Q�N�A1��B'6ค#�1��B��?= 

ค�4�%%#�6%�>��6#O'4�%4 N#>��'O �� 5��61� ค์�6%�%>/6%2N /�� 6�' �O 6$/6� 

�?PR�O%5��6%O�N��5Q��6#%4N�?$�3  �O1�� 6/��O�/�6� />�?�6%�>��6#O'4�%4N#>��'O�� 5��61�ค์�6%
�%>/6%2N/�� 6�' P�$Q/O#?�6%�%4�B#� 6/��O�/�6� />�?�6%Q��6%�>��6#O'4�%4N#>��'O'411� AQ��?P 
2BN#�%/��>��6#�%4N#>��'Pค%��6%/�>��%%#�?P� 6N�>��6� N AP1�6%�>��6#O'4�%4N#>��'�6%Q�O�N6$
���%4#6��1�1�ค์�6%�%>/6%2N/�� 6�'O'4Q�OO���%4N#>�ค/6# @� 1Q��N1�6%� 6N�>��6��1�1�ค์�6%
�%>/6%2N/�� 6�'  �5��5Q� N AP1Q/O21�ค'O1��5�%4N�?$�3 O'4�6%�5�� 6O�� 5��6�O1��>P�2?P�?Q/O21�ค'O1��5�
�ั�/6 ค/6#�O1��6%O'4O�/�6��6% 5��6�?PN/#642#�5� AQ��?PO'42�6��6%�์"6$�1� �@��O1�#?�6%�>��6#
O'4�%4N#>��'O�� 5��61�ค์�6%�%>/6%2N/�� 6�'�O6$/6� �?���%4#6�  .0.2560 �@Q� O'42%B�%6$�6�
�'N2�1�N1�6$�1�ค์�6%�%>/6%2N/�� 6�' N AP1�6$�1�ค์�6%�%>/6%2N/�� 6�'N2�1�N12"61�ค์�6%�%>/6%
2N/�� 6�'  ค�4�%%#�6% 5��61�ค์�6%�%>/6%2N/�� 6�'�O6$/6�O'4�%4�60�'�6%�>��6#O'4
�%4N#>��'O�� 5��6Q/O�%4�6��Q�N��1�ค์�6%�%>/6%2N/�� 6�'P�$�5P/�5��6#' 6�5��N1R� 
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�ั��B�5��6%�>��6#O'4�%4N#>��'�5�/N6#?ค/6#2 6ค5�O'4� 6N�O��N1�6%�%>/6%�6�N�O� 

1$N6�$>P� N�AP1��6��6%�>��6#O'4�%4N#>��'N�O��6%�%4N#>��'�6��6%��>�5�>�6��1��?�?P�N6�#6  /N6#?ค/6#
21�ค'O1��5�O���6��?PR�O/6�N16R/O/%A1R#N %/#�5Q��6%#?2N/�%N/#�1�"6ค�%4�6��1$N6�O�O�%>� 1�ค์�6%
�%>/6%2N/�� 6�'�O6$/6�  Q��6�41�ค์�%��ค%1�2N/��O1��>P�#?"6%4/�O6�?P�?P�4�O1�Q/O�6%�%>�6% 

O�N�%4�6�� �@�� 6N�O��?P�4�O1�#?�6%�5�� 6O���>��6#O'4�%4N#>��' N AP1/5��@��%42>��>"6  �%42>��>�'
�1��6%� 6N�>��6%Q��O6��N6�N N AP1Q�ON�%?$�N�?$��6%� 6�6��1��?�?P�N6�#61?��O/$ 

2) O�/�2�Q��2%�>��2#Oล0�%0N#>��ล 

�6%�>��6#O'4�%4N#>��'O�� 5��6 N�O�Nค%AP1�#A1�?P� 6N�O�Q��6%�%5��%B��%42>��>"6 
�1�Pค%��6%�?P� 6N�>��6%1$CN P�$�?P�6%�>��6# /#6$�@� �>��%%#"6$Q�Pค%��6%�@P��C�11�O��#6N AP1Q/O
�O1#C'�O1��'5�N�?P$/�5��6%� 6N�>�Pค%��6%/�>��%%# �ั�/6�?P� 6'5�N��>�1$CN �%42>��> "6 �1�/>�?�6%
� 6N�>��6�Q/O'B'N/� คN6Q�O�N6$Pค%��6%/�>��%%#2C�N�>��/N6�?P� 6/��R/O �'BN#N�O6/#6$/'5��1�Pค%��6%/
�>��%%#R#NR�O%5��%4P$��์/%A1R�O%5��O1$�/N6�?Pค/%�4N�O� N�>��ั�/6Q��6%ค/�คB#คB�"6 �1��6%� 6N�>��6�  
N2?$N/'6Q��6%�%/�21�ค/6#�5�O$O�Q��6%��>�5�>�6�"6$Q�/�N/$�6�/%A1%4//N6�/�N/$�6� �'BN#N�O6/#6$
�?PR�O%5��%4P$��์�6�Pค%��6%/�>��%%# �6%�%4N#>��' คA1 �6%�%/�21��'�6%� 6N�>��6�Q�%4//N6��?P� 6'5�
� 6N�>��6%/%A1"6$/'5��?P�6%� 6N�>��6%2 6N%O�N2%O�2>Q�R�O'O/  �@P��6%�%4N#>��' N�O�2>P�� 6N�O�N�N�N�?$/�5�
�6%�>��6# �6%�%4N#>��'O���6��4N�O��6%�N��?Q/N6O���6��?P� 6/��R/OR�O#?�6%��>�5�>/%A1R#N  1$N6�R%  
15�N�O��5/�?Q/5�/N6O���6��?PR�O� 6N�>��6%R�O'O/�5Q�Q/O�'N�O�1$N6�R% � 6R�2CNค/6#2 6N%O��6#O���6��?P� 6/��
R/O/%A1R#N  �@P��'�?PR�O�6��6%�>��6#O'4�%4N#>��'�A1/N6N�O��O1#C'$O1��'5��?P26#6%�� 6R�Q�OQ��6%�%5��%B�
O'4�5�2>�Q�Q��6%�5�� 6O�� 5��6�O1��>P��N1R�  

1.2  %0N�?$� />�?�2%Oล0Nค%AP1�#A1�?PQ�OQ��2%�>��2#Oล0�%0N#>��ล 

 1) %0N�?$��?PQ�OQ��2%�>��2#Oล0�%0N#>��ล 

%4N�?$��%4�%/�#/6�R�$ /N6�O/$�6%�5�� 6O�� 5��6�1�1�ค์�%��ค%1�2N/��O1��>P� 
 .0. 2548  �O1 28 R�O� 6/��1�ค์�%4�1��1�ค�4�>��6#O'4�%4N#>��'O�� 5��6�O1��>P�  
�@P��%4�1��O/$ 2#6�>�2"6�O1��>P��?P2"6�O1��>P�ค5�N'A1�� 6�/�26#ค� �COO���%4�6ค#�O1��>P��?P�%4�6ค#
�O1��>P�ค5�N'A1�� 6�/�21�ค� �COO��/�N/$�6��?PN�?P$/�O1��?P�CO�%>/6%�O1��>P�ค5�N'A1�� 6�/�21�ค� /5//�O6
2N/��6%�%>/6%�?Pค5�N'A1��5�N1�� 6�/�21�ค� �CO�%�คB�/B�>�?P�CO�%>/6%�O1��>P�ค5�N'A1�� 6�/�21�ค� P�$Q/O
ค�4�%%#�6%N'A1�ค�4�%%#�6%/�@P�ค�� 6/�O6�?P�%4�6�ค�4�%%#�6%O'4�%%#�6%1?�/�@P�ค�� 6/�O6�?P
N'�6�B�6%�1�ค�4�%%#�6% P�$ค�4�%%#�6%�5Q�/#�Q/O#?/6%41$CNQ�� 6O/�N�ค%6/'421��?O'416�R�O%5�
�6%ค5�N'A1�1?�R�O O'4�O1 29 (1) � 6/��O�/�6� />�?�6%Q��6%�>��6#O'4�%4N#>��'O�� 5��6 (2) 
� 6N�>��6%�>��6#O'4�%4N#>��'O�� 5��6 (4) O�N��5Q�ค�41�B�%%#�6%/%A1ค�4� 6�6�N AP1�N/$��>�5�>�6�
�6#�?PN/O�2#ค/% 

%4N�?$��%4�%/�#/6�R�$ /N6�O/$�6%�5�� 6O�� 5��6�1�1�ค์�%��ค%1�2N/��O1��>P� 
(��5��?P 2)   .0. 2559  �O1 13 Q/O$�N'>�ค/6#Q� (3) �1��O1 29 %4N�?$��%4�%/�#/6�R�$/N6�O/$   �6%
�5�� 6O�� 5��6�1�1�ค์�%��ค%1�2N/��O1��>P�  .0. 2548 O'4Q/OQ�O�O1ค/6#�N1R��?QO�� 

<(3)  %6$�6��'O'4N2�1ค/6#N/O��@P�R�O�6��6%�>��6#O'4�%4N#>��'O�� 5��6�N1�CO�%>/6%�O1��>P� 
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N AP1Q/O�CO�%>/6%�O1��>P�N2�1�N12"6�O1��>P�  O'4ค�4�%%#�6% 5��6�O1��>P�   %O1#�5Q��%4�60�' �6%
�>��6#O'4�%4N#>��'O�� 5��6Q/O�%4�6��Q��O1��>P��%6�Q��?PN�>�N�$"6$Q�2>�/O6/5�   �5�O�N/5�
%6$�6��'O'4N2�1ค/6#N/O��5��'N6/O'4�O1��>��%4�60R/ON�O�%4$4N/'6R#N�O1$�/N626#2>�/5�  P�$1$N6�
�O1$�?'421�ค%5Q�"6$Q�N�A1�N#16$�O'4"6$Q�N�A1��B'6ค#�1��B��?= 

2) />�?�2%Q��2%�>��2#Oล0�%0N#>��ล 

�6%�>��6#O'4�%4N#>��'$B��062�%์ N�O��6%�%/�21�Q�%4//N6��6%� 6N�>�Pค%��6%
 5��6O'4�>��%%#�?P� 6N�>��6%�%>��5Q�/#�Q� AQ��?P�1�1�ค์�%��ค%1�2N/��O1��>P��%4� 6�?���%4#6��5Q�  
/N626#6%�N�O�R��6#N�O6/#6$�?P�5Q�R/OR�O/%A1R#N N AP1Q/O�Bค'6�%�?PN�?P$/�O1�26#6%�%4�#ค/6#ค>�Q��6%
�%5�N�'?P$�/>�?�6%� 6N�>��6��?P�426#6%�� 6R�2CN�6%�%%'BO���?P� 6/��R/OR�O Nค%AP1�#A1�?PQ�OQ��6%�>��6#�'
�6%� 6N�>��6� R�OO�N O���>��6#�'�6%� 6N�>��6��1�1�ค์�6%�%>/6%2N/�� 6�'�O6$/6� �@P��%4�1�R��O/$ 
�6%�>��6#�6%� 6N�>��6��1�Pค%��6%/�>��%%#O'4�6%N�'?P$�O�'�Pค%��6%/�>��%%# �6%�>��6#�6%Q�O
�N6$���%4#6� �6%�>��6#Pค%��6%/�>��%%#�?PR�O%5�N�>�1B�/�B�N� 64�>� �'1����ั�/6O'41B�2%%ค 

Q��6%� 6N�>��6��6%�%4N#>��'O��$B��062�%์�6% 5��6 N�O��6%�%/�21��'�?PN�>��@Q��%>�N#AP1� 6N�>�
Pค%��6%/�>��%%#O'O/N2%O� N�%?$�N�?$��5�/5��B�%42�ค์�?P� 6/��R/O P�$Nค%AP1�#A1�?PQ�OQ��6%�%4N#>��' 
R�OO�N O���%4N#>�ค/6# @� 1Q��1��CO�?PN�?P$/�O1��N1�'�6%� 6N�>��6��1�1�ค์�6%�%>/6%2N/�� 6�' 

�O6$/6�Q�"6 %/# ค/6# @� 1Q��1��CO�?PN�?P$/�O1��N1�'�6%� 6N�>��6�Q�O�N'4$B��062�%์O'4�%4N�O��6%
 5��6%/#�5Q��6%N�'?P$�O�'��1��B#���6#�5/�?Q/5��?P� 6/��R/O 1?��5Q��6%�>��6#O'4�%4N#>��'�O/$%4�� 
e-plan �@P�1�ค์�6%�%>/6%2N/�� 6�'�O6$/6� P�$ค�4�%%#�6%�>��6#O'4�%4N#>��' #?/>�?�6%�>��6#O'4
�%4N#>��' �5��?Q 
 

ø �2%� 2/��/O/�N/ล2Q��2%�>��2#Oล0�%0N#>��ล  

ค�4�%%#�6%�>��6#O'4�%4N#>��' � 6/��/O/�N/'6Q��6%�>��6#O'4�%4N#>��'
Pค%��6%/�>��%%# P�$ค 6�@��@�ค/6#N/#642#�1�O�N'4Pค%��6%/�>��%%# �5Q��?Q  � 6/��Q/O#?�6%�>��6#O'4
�%4 N #> � �'�6 %� 6 N �> � � 6� P ค% �� 6% /�> �� % %#�B �ค%5Q � �?P � 6 N �> �� 6% O'O / N 2 %O � O'42%B � N �O �  
%6$R�%#62 %4$4/�N�A1� O'4%6$�6�Q/O�CO�%>/6%�%6� N#AP12>Q��?���%4#6�Q/O� 6N�>��6%�%4�B#
ค�4�%%#�6%�>��6#O'4�%4N#>��'1?�ค%5Q� %O1#2%B��'Q�"6 %/#1$N6��O1$�?'4 2 ค%5Q� O'O/%6$�6��'
O'4N2�1ค/6#N/O��@P�R�O�6��6%�>��6#O'4�%4N#>��'�N1�CO�%>/6%�O1��>P� N AP1Q/O�CO�%>/6%�O1��>P�� 6N2�1
2"6�O1��>P�  ค�4�%%#�6% 5��6�O1��>P�O'4�%4�60�'�6%�>��6#O'4�%4N#>��'O�� 5��6Q/O�%4�6��
Q�N��1�ค์�6%�%>/6%2N/�� 6�'�%6�P�$�5P/�5�1$N6��O1$�?'4 2 ค%5Q� "6$Q�N�A1�N#16$�O'4"6$Q�N�A1�
�B'6ค#�1��B��?O'4�>��%4�60R#N�O1$�/N6 30 /5�   
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1.3  � 2/��Nค%AP1�#A1�?PQ�OQ��2%�>��2#Oล0�%0N#>��ล 

1) Nค%AP1�#A1�?PQ�OQ��2%�>��2#Oล0�%0N#>��ล 

�6#%5��%%#�C�O/N�%6�16�6�5�%R�$  B��05�%6� 2550 #6�%6 287 /%%ค 3 �5��5�>Q/O
1�ค์�%��ค%1�2N/��O1��>P��O1�%6$�6��'�6%� 6N�>��6��N1�%4�6��Q�N%AP1��6%�5�� 6���%4#6�  �6%Q�O
�N6$O'4�'�6%� 6N�>��6�Q�%1��? N AP1Q/O�%4�6��#?2N/�%N/#Q��6%�%/�21�O'4� 6�5��6%�%>/6%�5��6%
1�ค์�%��ค%1�2N/��O1��>P��%4�1��5��6#%4N�?$��%4�%/�#/6�R�$  /N6�O/$�6%�5�� 6O�� 5��6�1�
1�ค์�%��ค%1�2N/��O1��>P� (��5��?P 2)  .0.2559 � 6/��Q/O1�ค์�6%��ค%1�2N/��O1��>P� �O1��5�� 6O�� 
O�� 5��6�O1��>P�2?P�?  O'4O���6%� 6N�>��6� N AP1N�O�Nค%AP1�#A1Q��6%Q�O���%4#6�  /52�B 1B��%�์O'4
�%5 $6�%�N6�N  R�O1$N6�#?�%42>��>"6 O'4�%42>��>�' #?ค/6#P�%N�Q2 N�>��%4P$��์2C�2B�O�N�O1��>P�O'4
�1�2�1�ค/6#�O1��6%�1��%4�6��  �@�O#O/N61�ค์�%��ค%1�2N/��O1��>P��4#?O�� 5��6�O1��>P��?P�?  
25�N ?$�R%�O�6#O�N/6�R#N26#6%��N��?Q�@��'�6%� 6N�>��6��?PN�>��@Q�R�O �OR#N26#6%��?P�4�N��1�ค/6#2 6N%O�
�1�O�� 5��6�O1��>P�R�O   

2.  �2%�>��2#Oล0�%0N#>��ลPค%��2% 

2.1 �%1�Oล0O�/�2�Q��2%�>��2#Oล0�%0N#>��ล 

�6%�>��6#�6%� 6N�>��6��1� 1�ค์�6%�%>/6%2N/�� 6�'�O6$/6�  16��%4� 6R�O/'6$/>�? N�N� 0@�16
�6�%6$�6� �N6�N �?PN�?P$/�O1� O'4R�OO�N��5Q�ค�4�%%#�6%�>��6#O'4�%4N#>��'O�� 5��6�O1��>P� N AP1
�%/��>��6#�'�6%� 6N�>��6� �6#�?PR�O%5�#1�/#6$/N6�6�'B'N/�R�O'O/N ?$�Q� 26#6%�� 6N�>��6%�6#O��
�?P� 6/��R/OO'O//%A1R#N �?Q�ั�/6�O1�5��O1�1$N6�R% P�$�%4� 61$N6��O1$�?'4 2 ค%5Q� 

�6%�%4N#>��'�5�Q/O#?�6%�%4N#>��'1$N6��O1$�?'4 2 ค%5Q� "6$Q�N�A1�N#16$�O'4"6$Q�N�A1�
�B'6ค#�1��B��? N AP12 6%/��'/N6R�O�6#/5��B�%42�ค์�?P/6�R/O/%A1R#N 2 6/%5�/'5�N���์�/O6�N�?PQ�ON�O�
Nค%AP1�#A1Q��6%/5�/%A1�%4N#>��' N�N� � 6�/�Pค%��6%�?P#?�6%� 6N�>��6� �'�6��6%� 6N�>��6%�6#Pค%��6%
�N6�N /%A1�ั�/6ค/6#�O1��6%�1��%4�6�� N�O��O� 

1) /5��B�%42�ค์ 

N AP1Q/O�%6�O�/�6�O'4�'R� Q��6%�>��6#O'4�%4N#>��'�6%� 6N�>��6��6#$B��062�%์ 
�6% 5��6O'4O�� 5��6�O1��>P�2?P�? 15��4N�O��%4P$��์�N1�6%�5�� 6O�� 5��6Q��?�N1R�O'4N�O��6%2%O6�
O�/�6��6%#?2N/�%N/#Q/O�%%'B/5��B�%42�ค์�1�O�N'426�6�6% 5��6�?P� 6/��R/O 

2) �6%� 6O��R�2CN�6%��>�5�> �6%�>��6#O'4�%4N#>��'O�� 5��6 

 �6%� 6O��R�2CN�6%��>�5�>  
N�O��6%� 6O���6�/Pค%��6%�?PR�O� 6/��R/OQ�$B��062�%์�6% 5��6O'4O�� 5��6�O1��>P� 

2?P�?R�� 6N�>��6%Q/ON�>��' P�$�4�O1�� 6/��/�N/$�6�%5��>��1�O'4� 6/��/>�?�6%�%>/6%�5��6% 

 �6%�>��6# 

N�O��5Q��1�Q��6%�%/�21��'�6%� 6N�>��>��%%#�1�O��/Pค%��6% �6#O�� 5��6/N6R�O#?
�6%��>�5�>�6#�5Q��1�/�>��%%# �?P� 6/��R/OQ�O���6�/Pค%��6%/%A1R#N �6%Q�O�%5 $6�%�N6�N N�O�R�1$N6�
N/#642#N ?$�Q� 1$CN"6$Q�O%4$4N/'6O'4คN6Q�O�N6$�?P� 6/��R/O/%A1R#N 
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3) �6%�%4N#>��' 

N�O��5Q��1�Q��6%O2/�/6ค 6�1�/N6O���6�/Pค%��6��?P� 6R���>�5�> �%%'B/5��B�%42�ค์
/%A1R#N 1$CNQ�%4�5� /%A1�'N6/1?�Q�/�@P�N�O��6%/5�%4�5�ค/6#2 6N%O�O'4ค/6#'O#N/'/�1��6%� 6O���6�/
Pค%��6%�6#O�� 5��6R���>�5�> 

4) �6%�>��6#O'4�%4N#>��'$B��062�%์�6% 5��6O'4O�� 5��6 

 � 6/��1�ค์�%%5��>��1�Q��6%�>��6#O'4�%4N#>��'�6%� 6O�� 5��6�O1��>P�2?P�?
R���>�5�> P�$O�N��5Q�ค�4� 6�6�R#N�O1$�/N6 1 �B� N AP1Q/O�%4�6��R�O�%6�ค/6#�O6//�O6Q��6%� 6N�>��6�
�1��O1��>P�O'426#6%�%N/#�>��6#�%4N#>��'�6%�5�� 6O�� 5��6 %/#�5Q�Q/O�O1N2�1O�4/%A1N2�1ค/6#
�O1��6%N >P#N�>#O�Nค�4� 6�6� N AP1� 6#6Q�OQ��6%�%5�O�� 5��62?P�?�N1R� 

 �6%� 6/��/>�?�6%�>��6#O'4�%4N#>��' 

1. � 6/���5Q��1�Q��6%�>��6#�'�6%� 6N�>��6��1��>��%%#�1�O��/
Pค%��6%�%4�1��O/$ 3   �5Q��1� �5��?Q 

 �6%�5�� 6O���6%� 6N�>��6�Pค%��6% 

 � 6/���>��%%#/'5��?P�O1��5�� 6N AP1Q/OPค%��6%O'O/N2%O� 

 N%?$�' 6�5��>��%%#�?P�4�O1�� 6N�>��6%�6#' 6�5��N1�-/'5� 
 �%4#6�N/'6�?P�4�O1�� 6N�>��6%Q�O�N'4�>��%%# 

  >�6%�6�6%Q�O�N6$N�>�Q�Pค%��6%P�$ >�6%�6N�O�%6$�>��%%# 

 �6%�>��6#O'4�6%ค/�คB#Pค%��6% 

N�O��6%�%/�21��'�6%� 6N�>��6��1��>��%%#�1�Pค%��6% Q��O6�%4$4N/'6O'4
คN6Q�O�N6$ P�$N�%?$�N�?$��5�%4$4N/'6O'4คN6Q�O�N6$�?PR�O� 6/��R/OQ��>��%%# P�$ >�6%�6�@�ค/6#N/#642#
�1�O�N'4Pค%��6%�%4�1� 

 �6%%6$�6��' 

� 6N2�1�O1#C'�?PR�O�6��6%�>��6#O'4ค/�คB#Pค%��6%Q/O�CO�%>/6%�%6��@�ค/6#�O6//�O6O'4
�ั�/61B�2%%ค์�?P �Q��6%� 6N�>��>��%%#�6#O���6�/Pค%��6% 

1. />�?�6%�%4N#>��'%4�5�ค/6#2 6N%O�O'4ค/6#'O#N/'/�1�O���6�/Pค%��6% 
26#6%��%4N#>�ค/6#2 6N%O�O'4ค/6#'O#N/'/R�ON�O� 3  %4�5� คA1 

 �'�'>� 

 �''5 �์ 
 �''5 �์2B��O6$ 

� 6/��/O/�%4$4N/'6Q��6%�>��6#�%4N#>� ค�4� 6�6��>��6#O'4�%4N#>��' � 6/��/O/�
N/'6Q��6%�>��6#�%4N#>��'O���6�/Pค%��6% P�$ค 6�@��@�ค/6#N/#642#�1�O�N'4O���6�/Pค%��6%
1$N6��O1$O���6�/Pค%��6%'42 ค%5Q� O'4�%4N#>��'O���6�/Pค%��6% Q�"6 %/#1$N6��O1$ 2 ค%5Q� O'O/
%6$�6�ค�4�%%#�6% 5��6�O1��>P�O'42"6�O1��>P�%/#�5Q��>��%4�60Q/O�%4�6��R�O�%6�P�$�5P/�5� 
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 2.2 %0N�?$� />�?Q��2%Oล0Nค%AP1�#A1�?PQ�OQ��2%�>��2#Oล0�%0N#>��ล 

                 %4N�?$�/>�?�6%�5�� 6%6$�6��6%�>��6#O'4�%4N#>��'O�� 5��6�O1��>P�2?P�? ( .0. 2561-

2564) �1�1�ค์�6%�%>/6%2N/�� 6�'�O6$/6� ค�4� 6�6��>��6#O'4�%4N#>��'O�� 5��61�ค์�6%�%>/6%
2N/�� 6�'�O6$/6� R�O0@�16O�/�6��6%�>��6#O'4�%4N#>��'�6%�5�� 6O'4O�'�O��R�2CN�6%��>�5�>�1�
1�ค์�%��ค%1�2N/��O1��>P� %6$�6��6%�>��6#O'4�%4N#>��'N�?P$/�5��6%�5�� 6%6$�6��' ค/6# @� 1Q�
�1��CO�1�O��21��6#Q�"6 %/#O'4Q��%4N�O�$B��062�%์Q�O�N'4�%4N�O�$B��062�%์ %/# 6 $B��062�%์ 

 />�?�6%�>��6#O'4�%4N#>��'O�� 5��6�O1��>P�2?P�? ( .0. 2561-2564) �1�1�ค์�6%
�%>/6%2N/�� 6�'�O6$/6� N�O��6%�>��6#O��� 6N�>��6�Q�"6 %/#Q��%4N�O�O�N'4$B��062�%์ %/# 6 

$B��062�%์ #?Pค%��6%�?P� 6#6� 6N�>��6%Q��?���%4#6�  .0. 2559 %/# db  Pค%��6% P�$�%4N#>�ค/6#
 @� 1Q��N1�'�6%� 6N�>��6��1�1�ค์�6%�%>/6%2N/�� 6�'�O6$/6� Q�"6 %/#Q�O�N'4�%4N�O�$B��062�%์  
�@P�Q��6%�>��6#O'4�%4N#>��'Q�ค%5Q��?QR�O21��6#ค/6# @� 1Q��1��%4�6��N�O�  "6 %/#Q� AQ��?P�5Q� d 
/#CN�O6��@P�R�O#?/>�?�6%O'4�6%� 6Nค%AP1�#A1#6Q�OQ��6%�>��6#O'4�%4N#>��'  O�� 5��61�ค์�6%�%>/6%2N/�
� 6�'�O6$/6� �%4� 6�?���%4#6�  .0. 2559   

2.3 � 2/��Nค%AP1�#A1�?PQ�OQ��2%�>��2#Oล0�%0N#>��ล 

1) Nค%AP1�#A1�?PQ�OQ��6%�>��6#O'4�%4N#>��'�6%� 6N�>��6�  

   Nค%AP1�#A1�1�1�ค์�6%�%>/6%2N/�� 6�'�O6$/6��?PQ�OQ��6%�>��6#O'4�%4N#>��'�6%
� 6N�>��6� คA1�6%%/�%/#O'411�O��%4���6%�>��6#O'4�%4N#>��'R�OO�N �6%25#"61�์ �6%21��6# 
�6%25�N���6%�์ Q�O�N'4$B��062�%์Q�"6 %/#N���์�6%Q/Oค4O��O'4O�'ค/6#/#6$ #? 3 %4�5� %4�5��?P 
3  1Q�#6� %4�5��?P 2  1Q� %4�5��?P 1 R#N 1Q�   

2) />�?�6%�%4#/'�'�O1#C' 

        />�?�%4#/'�'�O1#C' Q��6%/>Nค%64/์�O1#C'�1��6%�>��6#O'4�%4N#>��'O�� 5��6
1�ค์�6%�%>/6%2N/�� 6�'�O6$/6� ค�4� 6�6�R�O%/�%/#O���%4N#>�ค/6# @� 1Q� #6� 6N�>��6%/>Nค%64/์
�O1#C' �5��?Q 1 �%/�21�ค/6#2#�C%�์O'4ค/6#�C��O1��1��6%�1� ค 6�6#�B���5� /'5��6�� 6N�>��6%N�O�
%/�%/#�O1#C'O'O/ 2 �%4N#>��'P�$/6คN6N�'?P$ (Percentage) 3. �6%%6$�6��'�6%�>��6#O'4�%4N#>��' 

�6%�>��6#O'4�%4N#>��'O�� 5��6�O1��>P�2?P�? ( .0. 2561-2564) �1�1�ค์�6%�%>/6%2N/�� 6�'�O6$
/6� #?�6%%6$�6��'�?'4 2 ค%5Q� "6$Q�N�A1�N#16$�O'4"6$Q�N�A1��B'6ค#�1��B��? 

3.  2%B��ล�2% 1��2�O1��>P�Q�"2 %/# 

3.1 �2%/1��ลQ�N�>��%>#2�Oล0N�>�คB�"2  

�O1 30 (5) %4N�?$��%4�%/�#/6�R�$/N6�O/$�6%�5�� 6O�� 5��6�1�1�ค์�%��ค%1�2N/� 
�O1��>P�  .0. 2548 ��5��?P 2  .0. 2559 � 6/��/N6 �O1��>P�N2�1�'�6%�>��6#O'4�%4N#>��'�N12"6 
�O1��>P� O'4ค�4�%%#�6% 5��6�O1��>P� �5Q��%4�60�'�6%�>��6#O'4�%4N#>��'O�� 5��6Q/O�%4�6�� 
Q��O1��>P��%6�Q��?PN�>�N�$"6$Q�2>�/O6/5��5�O�N/5��?P�CO�%>/6%�O1��>P�N2�1�'�6%�>��6#O'4�%4N#>��'  

�5��'N6/  O'4�O1��>��%4�60P�$N�>�N�$R#N�O1$�/N626#2>�/5��?'421�ค%5Q�"6$Q�N�A1�N#16$�O'4"6$Q�  
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N�A1��B'6ค#�1��B��? O'4 �O1 29 (3) � 6/��/N6 1�ค์�%��ค%1�2N/��O1��>P�%6$�6��'O'4N2�1ค/6#N/O�
�@P� R�O�6��6%�>��6#O'4�%4N#>��'O�� 5��6�N1�CO�%>/6%�O1��>P� N AP1Q/O�CO�%>/6%�O1��>P�N2�1�N12"6
�O1��>P� O'4 ค�4�%%#�6% 5��6�O1��>P� �5Q��%4�60�'�6%�>��6#O'4�%4N#>��'O�� 5��6Q/O�%4�6��
Q��O1��>P� �%6�Q��?PN�>�N�$"6$Q�2>�/O6/5� �5�O�N/5�%6$�6��'O'4N2�1ค/6#N/O��5��'N6/O'4�O1��>�
�%4�60R/ON�O� %4$4N/'6R#N�O1$�/N626#2>�/5� 1$N6��O1$�?'421�ค%5Q�"6$Q�N�A1�N#16$�O'4"6$Q�N�A1�
�B'6ค#�1��B��?   P�$Q�O%C�O��N�>� %%�6 �@P�26#6%�O2��R�O�5Q��6%1�>�6$N�>�2�>�> %C�"6  �%6! �O1#C'
�N6� N 

1�ค์�%��ค%1�2N/��O1��>P�  �@�#?Nค%AP1�#A1�?P2 6ค5�Q��6%�%/�21��6%� 6N�>��6�/N6N�O�R�
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O���?P  1  O���N/$� 2�1��2%�1�� 2O��$B��022�%์�1��O1��>P�P�$��N1� 
ค 2�?QO��  :  O���?P  1  N�O�O���%4N#>���N1�Q��6%�5�� 6O�� 5��6�O1��>P�2?P�?�1�1�ค์�%��ค%1�2N/�
�O1��>P�R�O�%4�60Q�OO��O'O/  

�AP11�ค์�%��ค%1�2N/��O1��>P� ....................................................................... 

�%0N�O��2%�%0N#>� 

#?�2%
� 2N�>��2% 

R#N#?�2%
� 2N�>��2% 

2N/��?P 1 ค�0�%%#�2% 1��2�O1��>P� 

1. #?�6%�5��5Q�ค�4�%%#�6% 5��6�O1��>P�N AP1�5�� 6O�� 5��6�O1��>P�   

2. #?�6%�5��%4�B#ค�4�%%#�6% 5��6�O1��>P�N AP1�5�� 6O�� 5��6
�O1��>P� 

  

3. #?�6%�5��%4�B#1$N6��N1N�AP1�2#P 6N2#1   

4. #?�6%�5��5Q�ค�4�%%#�6%2�5�2�B��6%�5�� 6O�� 5��6�O1��>P�   

5. #?�6%�5��%4�B#ค�4�%%#�6%2�5�2�B��6%�5�� 6O�� 5��6�O1��>P�   

6. #?ค�4�%%#�6% 5��6�O1��>P�O'4�%4�6ค#N#A1� >�6%�6%N6�
O�� 5��6�O1��>P�2?P�? 

  

2N/��?P 2 �2%�1�� 2O�� 1��2�O1��>P� 

1. #?�6%%/#%/#�O1#C'O'4�ั�/62 6ค5��1��O1��>P�#6�5�� 6�6��O1#C'   

2. #?�6%N�>�P1�62Q/O�%4�6��N�O6#6#?2N/�%N/#Q��6%�5�� 6O��   

3. #?�6%/>Nค%64/์05�$"6 �1��O1��>P� N AP1�%4N#>�2�6�"6 �6% 5��6
�O1��>P� 

  

4. #?�6%� 6/��/>25$�50�์O'4"6%�>�/'5��6% 5��6�O1��>P��?P21�ค'O1��5� 

05�$"6 �1��O1��>P� 

  

5. #?�6%� 6/��/>25$�50�์O'4"6%�>�/'5��6% 5��6�O1��>P��?P21�ค'O1��5� 

$B��062�%์�5�//5� 

  

6. #?�6%� 6/���B�#BN�/#6$N AP1�6% 5��6�?P$5P�$A�   

7. #?�6%� 6/��N�O6/#6$�6% 5��6�O1��>P�   

8. #?�6%� 6/��$B��062�%์�6% 5��6O'4�'$B��์�6% 5��6   

9. #?�6%1�B#5�>O'4�%4�60Q�OO�� 5��6�O1��>P�2?P�?   

10. #?�6%� 6/��%C�O���6%�>��6#�%4N#>��'O���O1��>P�2?P�?   

11. #?�6%���/�O���O1��>P�2?P�?   
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O���?P  2  O���>��2#�ล� 2N�>��2%�1�1�ค์�%��ค%1�2N/��O1��>P� 

ค 2�?QO��  :  O���?P  2  N�O�O���%4N#>���N1� P�$#?/5��B�%42�ค์N AP1�>��6#�'�6%� 6N�>��6��1�1�ค์�%
��ค%1�2N/��O1��>P��6#$B��062�%์�?P� 6/��R/OO'4#?� 6/��%4$4N/'6Q��6%%6$�6��?'4 2 ค%5Q� "6$Q�
N�A1�N#16$�O'4"6$Q�N�A1��B'6ค#�1��B��? 
  $B��022�%์�?P...........�2% 1��2�O2�............................................... 
 O���2�............................................................... 
 

ล 2�1�
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O���?P  3  O���%0N#>��ล�2%� 2N�>��2��2#O�� 1��2�O1��>P�2?P�ี 
ค 2�?QO��  :  O���?P  3-1  N�O�O���%4N#>���N1� P�$#?/5��B�%42�ค์N AP1�>��6#�'�6%� 6N�>��6��1�
1�ค์�%��ค%1�2N/��O1��>P��6#$B��062�%์�?P� 6/��R/OO'4#?� 6/��%4$4N/'6Q��6%%6$�6��?'4 2 ค%5Q� 
"6$Q�N�A1�N#16$�O'4"6$Q�N�A1��B'6ค#�1��B��? 

2%B��2% 1��2� 2�ล�1�1�ค์�%��ค%1�2N/��O1��>P� 

�%0� 2�ี���%0#2�......................... 
�2#$B��022�%์ �1�1�ค์�%��ค%1�2N/��O1��>P� #?�1��?Q 
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O���?P  3  O���%0N#>��ล�2%� 2N�>��2��2#O�� 1��2�O1��>P�2?P�ี 
ค 2�?QO��  :  O���?P  3-2  N�O�O���%4N#>���N1� P�$#?/5��B�%42�ค์N AP1�>��6#�'�6%� 6N�>��6��1�
1�ค์�%��ค%1�2N/��O1��>P��6#$B��062�%์�?P� 6/��R/OO'4#?� 6/��%4$4N/'6Q��6%%6$�6��?'4 2 ค%5Q� 
"6$Q�N�A1�N#16$�O'4"6$Q�N�A1��B'6ค#�1��B��? 

%0�1�ค/2#2 2N%O�Q��2%�%%ลBN�O2/#2$�2#O�� 1��2�O1��>P�2?P�ี�1� 1��. 
�2#O�� 1��2�O1��>P�2?P�ี................................... ���%0#2��2#......................................... 

 

ล 2�1�
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$B��022�%์�2% 1��2 � 2�/�
Pค%��2%Q�
O�� 1��2

22#�ี 
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4.  �O1N2�1O�0Q��2%�1�� 2O�� 1��2�O1��>P�Q�1�2ค� 

4.1 �ล�%0��� 2R�2CN1�2ค� 

 Q��6%�5�� 6O�� 5��6�O1��>P�Q��N/�O%��?P#?�6%N�'?P$�O�'�%C�O��O�� 5��6�O1��>P�O'4
#?�6%� 6/��/O/�N/'6Q��6%�5�� 6O�� 5��6�O1��>P�Q/#N�5Q� ค/%#?�6%/6�O��Q��O6��6%N�%?$#ค/6# %O1#
2 6/%5��CO��>�5�>�6��O6��6%�5�� 6O�� 5��6�O1��>P�O'4ค/%#?�5��O1#O�/�6�Q��6%�5�� 6O�� 5��6�O1��>P�
�N1��?P�4#?�6%�5�O�� 5��6�O1��>P�Q�ค%5Q��N1N R� N AP1R#NQ/ON�>�ค/6#�>� '6�15�N�AP1�#6�6�ค/6#R#NN�O6Q�
1$N6��N1�O�O O'4ค/6#O%N�%?��6�/O/�N/'6�?PR#NR�O#?�6%� 6/��O'4O�O�'N/�/�O6 2N��'Q/O�6%� 6N�>��6%#?
ค/6#�>� '6� R#N�C��O1� ค%��O/� R#NN�>��%42>��>"6 1$N6�O�O�%>� 

4.2 �O121�N�� �O1N2�1O�0 �ล�2��2% 1��2 

  ค/%#?�5��O1#O�/�6�Q��6%�5�� 6O�� 5��6�O1��>P��N1��?P�4#?�6%�5�O�� 5��6�O1��>P�Q�
ค%5Q��N1N R� 

 

 

 


